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44 m 0.000 m
29 m|\ 0.000 \ m
25 m |\ 0.000 0,0 m
1.9 m |\ 0.000 \ 1.9 m
09 m| ' 0.043 \ m
H29-07 57 m 1 0006 0.120 I 0.0 -
-11 m| 0020 \ m
21 m]_o0000 |  |____ JX" 21 m |
~26/m| 0001 m
31 m| 000+ \ m
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RE | ooy | BHE | BTK | BHE | BTK | o | L8 FRAE RE | ooy [ BHE | BTK | BHE | BTK | o | L# FTRAR RE | ooy [ BHE | BTK | BHE | BTK | o | L# FRAE
(mg/L) (mg/L) (mg/L) (mg/L) (AP m) (mg/L) (mg/L) (mg/L) (mg/L) (AP m) (mg/L) (mg/L) (mg/L) (mg/L) (AP m)
44 m| 0000 m 45 m| 0000 m 39 m| 0.001
29 m| 0000 m 30 m| 0001 m 28 m| 0016 0.0 m
25 m| 0000 0.0 m 20 m| 0000 20 m 18 m| 0030 m
19 m| 0000 m 10 m| 0017 m 08 m| 0070 m
H20-07 |09 m| 0043 0120 00 m 129-04 [ 10 m| 0.005 0.033 00 00 m 932°07 =55 m | 0028 0037 00 m
=01 _m| 0006 : : m 00 m|_0011 00 m 12 m| 0000 |  [____| m
=11 _m|_ 0020 m 10 m|_o0005 | [ ____ m 21 m[ 0001
—21 m|_o0000_ |  |[____ ] m 20 _m|_ 0.00 =22 m| 0001
=6 m | _ 0001 =25 m| 0006 41 _m|_ 0000
=31 _m|__0.001 43 m|_ 0000 34 m|_ 0000
41 m[ 0000 35 m| 0000 0.0 23 m| 0000
26 m| 0000 22 m| 0019 13 m| 0006
22 m|_ 0001 0.0 12 m|_ 0000 03 m|_0011 0.260
16 m| 0001 134705 =55 m| o000 | %M [TT~~ 00 07 m| 0000 |  [____]
06 m| 0003 —08 m| 0000 “1.7 m [ "0000
H29-08 [ <04 m| 0016 0.440 0.0 -1.8 m| 0.000 —27 m| 0.000
—1.4_m| 0005 —24 _m|_0.001 =30 _m|__0.001
—24 m| 0080 28 m| 0000 0.0 J34-04 [ 42 m 0.0
=33 m|_ 0076 15 m 34 m 0.0
23 m| o001 | || 1 _m] 603 o m |~~~ 0000 pm=——-— 00 27 m 0.0
=53 m | _ 0,001 —1.6_m 17 m 0.0
44 m| 0000 47 m]| 0000 07 m 0.0 i
29 m| 0000 32 m| 0000 0.0 03 m 0.0 '
19 0.000 0.0 32 m|_ 0000 o7ml ___ |  [____]
19 m| 0000 22 m| 0000 13 m 0.0
09 m| 0003 12 m| 0000 23 m 0.0
H29-09 |01 _m| 0370 0083 00 02 m|_ 0010 =33 m 0.0
-1 m| 0016 140-05 | —0:8 m| 0045 0021 00 45 m 0.0
=21 m| 0005 -1.8 m| 0007 ' : 35 m| 0000 0.7
=29 m| 0027 —28 m| 0058 24 m 0.0
=31 m|_ 0033 =38 m|_ 0350 J36-03 [ 20 m| _ | 0005 [ __ _ | 0.1
=41 m|_o0001_ | [ ___ ] =48 m|_0.180 124 'm 0.0 m
=51 m | _ 0,001 =58 m| 0015 04 m 0.0 m
44 m|_ 0000 68 m|_o0001 | [ ____ T _m] 0.6 _m 0.0 m
29 m|_ 0000 78 _m|_ 0.001 m 42 m|_ 0000 0.0 m
21 m| 0000 0.0 44 m| 0000 m 41 m| 0000 0.0 m
19 m| 0000 35 m| 0000 0.0 m 27 m| 0000 0.0 27 m
09 m|_ 0.000 29 m|_ 0000 34 m J36-05 [ 20 m| _ | 0078 [ __ _ | 0.1 . ______
—01 _m| 0.000 19 m| 0000 - m 17 m| 0000 0.0 17 m
H30-07 [ =11 m| 0006 0.100 00 J28-02 [ 09 m| 0001 0013 0.0 09 m 07 m| 0000 0.0 m
=21 m|_ 0012 =02 m|_ 0030 m —0.3 m|__0.001 0.0 m
=30 m|_0.170 12 m|_o0004 | [ ____ I T 46 _m|_ 0000 0.0 m
=31 m| 0.150 —22 m| 0001 m 31 m| 0000 0.0 31 m
—41_m|_ 0200 =30 _m|__0.001 m 21 m|_ 0000 0.0 m
=51 m|_o0001_ |  [____ ] 50 m|_ 0000 m J36-06 | 1.1 _m| 0.000 0.078 0.0 0.4 i1 m
=61 _m | _0.001 40 m|_ 0001 0.0 m 01 m|_ 0012 0.0 m
44 m|_ 0000 35 m|_ 0001 m -oml ___ | [____| N m_
29 m|_ 0000 25 m|_ 0001 m
25 m|_ 0000 0.0 20 m|__ T —___m | 48 m|_ 0000 m
H30-08 | 20 m| _ _ _ | aeo | 00 J29-07 [~ 75 m|_ 0.000 0013 00 m 36 m| 0000 00 37 m
19 m| 0000 05 m| 0000 m 25 m| 0000 - m
09 m[ 0000 —05 m| 0000 m 15 m| 0000 15 m
—01 m| 0001 -15 m| 0001 m J36-08 [ 05 m| 0003 0.140 00 m
—11_m| 0002 =25 m| 0002 m 0.5 m| 0047 m
43 m 0.000 0.0 -35 m m -1.5 m 0.057 m
39 m|_ 0000 0.0 43 m|_ 0000 m 25 m| o001 _|  [____| | m
28 m|_ 0000 0.0 38 m|_ 0000 m =35 m [ 0001
20 m 28 m|_ 0000 m 45 m|_ 0000
W07 =g G000~ ] %% |Toe— ] °f m 20 m|____ _ e 26 m | 43 m| 0000 0.0
08 m| 0.000 0.0 m 1.8 m| 0000 . m 23 m| 0016
—03 m| 0000 0.0 03 m 08 m| 0000 06 m J36-09 [ 13 m| 0025 1.000 00
-1.3_m|__0.000 0.0 m =02 m|__0.001 m 03 m[ 0005 |  [____1
31 m]| 0000 02 m -1.2 m| 0000 m 05 m[ 0001
30 m 0.1 m J30-02 [ 44 m 0.0 m —0.7_m| 0001
S5m|l 1  ]|__C 00 _ | m 38 m 0.0 m
128-04 |05 m 0.006 0.0 0.0 m 26 m 0.0 m
-05 m 0.0 m _20m|__ | L____ m
-15 m 0.0 m 1.6 m 0.0 1.3
=25 m 0.0 m 06 m 0.0
—04 m 0.0
—14 m 0.0
24 m 0.0
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(mg/L) (mg/L) (mg/L) (mg/L) (AP m) (mg/L) (mg/L) (mg/L) (mg/L) (AP m) (mg/L) (mg/L) (mg/L) (mg/L) (AP m)
39 m| 0000 0.0 m 22 m| 0002 27 m| 0000 m
33 m| 0004 0.0 m 35 m| 0000 00 36 m| 0000 00 m
24 m| 0000 0.0 m 2.7 m| 0000 26 m| 0000 m
14 m| 0001 0.0 m 17 m|_ 0011 16 m| 0002 m
J37-04 | 04 m| 0005 0.083 0.0 03 04 m 07 m| 0000 06 m| 0050 m
206 m|_ 0044 0.0 m 203 m| 009 204 m|_ 2800 m
=15 m]| _0.001 m =13 m| 0003 14 m| 6300 m
Tie m| o001 | |77 K271-09 =5 | 0034 by 00 K29-03 [ =24 m| 0.900 0.250 0.0 m
26 m| 0001 =33 m| 0023 =28 m| 0570 m
26 m| 0000 36 m| 0290 34 m|_1.100 m
33 m| 0003 00 ~43 m|_ 0540 “44 m|_ 1100 m
31 m| 0000 53 m|__0.520 54 m|_0.200 m
J37-05 [ 21 m] 0000 0013 00 63 m|_o0001 | [ ____ =64 m| 0.300 m
_2£_m_ ___________ -73 m 0.001 _—_7.4_m __0201 ________ m
1 m| 0001 26 m| 0000 84 m] 0001
01 m] 0000 20 m| 0005 00 25 m| 0000
52 m| 0000 22 m| 0000 35 m| 0000 00
32 m| 0001 00 12 m| 0001 30 m| 0000
21 m| 0003 02 m| 0029 20 m| 0005
11 m| 0010 K28-06 =04 0001 Ly ol 10 m| 0013
01 m| 0000 208 m|_ 0210 00 m| 0004
10 m| 0004 ~18 m|_0.110 ~10 m|__0.280
20 m| 0003 28 m| 000 K29-05 | =20 m| 0170 0,026 0.0
J39-08 =35 0045 L 00 38 m| 0001 | [~~~ I T 26 m| 0580
34 m| 0013 27 m] 0001 30 m| 0720
~40 m| 0010 38 m| 0005 00 ~40 m|_ 1.500
50 m| 0054 32 m| 0000 50 m|_ 0120
260 m|__0.170 22 m| 0008 260 m|_ 0072
=70 m]__0.001 20 m =70 m]__0.001
Tg0m]| 0001 | |77 T77 A A m ] K28-08 5 [ 0000 0013 00 [(Bom[ 0001 | [T T777
45 m| 0000 m 02 m| 0001 25 m| 0000 00
30 m| 0000 m 208 m| 0024 42 m| 0000
28 m| 0000 00 m 18 m|_o001 | [ ____ 25 m| 0000
20 m| 0000 m “28 m | 000 15 m| 0004
10 m| 0000 m 23 m| 0000 05 m| 0021
00 m| 0001 m 40 m| 0000 00 205 m| 0420
J40-01 [ 1.0 m| 0027 0015 0.0 0 m 28 m| 0000 15 m|_ 0043
20 m| 0020 m 18 m| 0000 K29-06 =T 0160 1100 00
27 m|__0.200 m 08 m| 0023 =29 m|_ 0110
30 m| 0320 m 202 m| 3600 =35 m|_ 0.690
~40 m|_0.290 m ~12 m|_0.180 ~45 m| 0540
=50 m| _0.002 m 22 m| 0290 =55 m| 0057
T60 m| 0001 _ |  [TTTTT I K29-01 =30 m | _1.000 0420 00 65 m| o007 _| [ __ |
39 m| 0000 =32 m| 0820 575 'm | 0004
30 m| 0000 00 ~22 m|_ 0950 25 m| 0000 00
18 m| 0000 52 m|_ 0170 44 m| 0000 0.0
08 m| 0000 62 m|_ 0370 30 m| 0000 0.0
202 m| 0010 ~72 m|_ 0038 20 m| 0000 0.0
=12 m| 0026 =82 m| 0003 10 m| 0007 0.0
J40-02 == 0,007 i 00 95 m| 0010 | [T~~~ 00 m| 0017 0.0
22 m| 0022 28 m| 0000 10 m| 0000 0.0
=32 m|_ 0035 29 m| 0000 00 20 m| 0000 0.0
~42 m| 0041 20 m| 0003 K29-09 | =30 m|_0.120 0.026 0.1 0.1
52 m|_o0002_ | | ___ 10 m| 0036 =32 m| 0006
6.2 m| 0001 00 m| 1600 ~20 m| 0190 00
52 m| 0000 10 m|_ 12,000 50 m|_ 0270 0.0
37 m|_ 000 20 m|_ 0290 =60 m|__0.110
36 m| 0000 00 K29-02 | —2.6 m|_ 1.000 0.025 00 70 m|__0.150
27 m| 0005 =30 m|__0.860 =80 m|_0.190
20 m ~40 m| 0970 ~90 m| 0.006
JA0-07 =S5 T o000 ] 90%8 | 00 50 m| 0110 700 m| 0002"]  [TTT 77
07 m| 0000 60 m| 0004 26 m| 0000
203 m| _0.002 =70 m|__0.050 31 m| 0000
=13 m| 0005 80 m|_o010 | [ ____ 30 m| 0.001 00
23 m| 0006 9.0 m | 0003 m 21 m| 0000
11 m| 0001
K30-01 | 04 m] _1.100 0.025 00
209 m|_0.100
~19 m| 0450
29 m|_0310
| 839 m| 0001 [ [ ___ _ |
=29 'm | 0001 m
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_ D) ST HERR T = D) ST HERR T = "ot ST HERR T
BB | 5 [REE | BT | BEE | BIK | o |LH TREE BB | 5 [REE | BTk | BEE | BIK | o |LH TREE BB | [ REE | BTk | BEE | BIK | o |LH TREE
(mg/L) (mg/L) (mg/L) (mg/L) B (AP m) (mg/L) (mg/L) (mg/L) (mg/L) (AP m) (mg/L) (mg/L) (mg/L) (mg/L) (AP m)
39 m|_ 0.000 0.0 46 50 m| _ 0.000 39 m|_ 0.000 0.0 m
37 m| 0000 36 m| 0000 0.0 38 m| 0000 0.0 m
05 m| 0000 35 m| 0000 23 m| 0000 0.0 m
~05 m|_0.160 25 m|_ 0000 13 m| 0029 0.0 13 m
~15 m| 0027 15 m| 0001 03 m| 0009 0.0 m
K30-04 (-t 0.091 00 K32-02 (—52-T—2om 0.054 00 K37-02 (—po—T—roes 0.150 0.1 -
25 m| 004 05 m| 0026 —0.7 m| 0350 0.0 m
=35 m| 0080 15 m|_o0000 | [ ____ ~17 m| 0068 0.0 m
=5 m|_oo00i_ |  [_____ 23 m]|_ 0001 27 m] 0000 |  [____| 27 m
=55 m | 0001 25 m| 0000 37 m [ 70000
42 m| 0000 20 m|_ 0.001 25 m| _ 0.000
25 m| 0000 26 m| 0000 0.0 39 m| 0000 0.0
11 m| 0007 0.0 25 m| 0001 30 m|_0.001
01 m| 2800 20 m 20 m| 0002
—0.9 m| 15.000 A = T s 00 1.0 m| 0001
K30-05 [ =1.9 m| 0540 0.370 00 05 m| 0000 K37-07 [ 0.0 m| 0026 0.037 00
29 m|_ 0390 Z05 m| 0000 ~1.0 m|__0.150
=32 m| 0480 =15 m| 0000 ~13 m| 0.160
=39 m| 0730 29 m| 0000 20 m| 0340
49 m|_o0002_ |  |[_____ 34 m| 0004 00 80 m| o001 | [ __| )
59 m | 0001 34 m| 0000 =40 m [ 0000 ™
52 m] 0000 24 m| 0003 29 m] 0000 ™
41 m| 0000 0.0 14 m| 0037 29 m| 0002 0.0 m
37 m| 0001 04 m| 0007 23 m| 0000 23 m
27 m|_ 0001 K32-08 =06 m [ 0020 0078 00 13 m| 0011 m
17 m|_0.150 ~16 m| 0003 03 m| 0000 03 m
07 m|_0.130 23 m|_0.180 ~0.7 m|_ 0015 m
K30-06 | -0.3 m | 11.000 0.290 00 =26 m| 0021 ~1.7 m| 0001 m
1.3 _m| 0420 36 m|_o0009 | [ ____ K39-03 50 m | _0.066 0.030 00 m
23 m| 0530 “46 m | 000 27 m| 0120 m
=33 m|_0.110 24 m|_ 0000 0.0 =37 m| 0580 m
~43 m| 0130 35 m| 0000 0.0 ~47 m| 0500 m
53 m|_0005_ |  |_____ 28 m| 0009 0.0 57 m| 0048 m
=63 m | 0001 20 =67 m| 0000 m
29 m| 0001 K33-06 —Tg m| " o000 | %% [[Too "] ¢ m (ST w0000 ]  [TTT I B
42 m| 0000 0.0 08 m| 0000 0.0 m 20 m]_ 0000
34 m|_ 0000 02 m| 0000 0.0 m 28 m| 0000 0.0
24 m| 0009 =12 m| 0000 0.0 m 25 m| 0000
14 m| 0011 20 m 0.0 20 m 15 m| 0000
04 m| 0053 35 m - 35 m 05 m| 0003
k3000 | —06_m | 030 0.290 00 25 m 0.0 m K39-09 05 m [ 0055 Bl 00
~1.6 m| 0210 : : —20m|____ | [____ I _m] =08 m| 0010
=19 m|_ 0510 15 m 0.0 ~15 m| 0048
=26 m| 0760 05 m 0.000 0.0 0.1 (25 m| 0000 |  [____
=36 m| 0810 00 m 235 m [ T0.000
~46 m| 0092 05 m 0.0 53 m] 0000
56 m|_o0007_ |  [_____ K4y |15 m 0.0 38 m| 0000
=66 m| 0007 20 m 35 m| 0003 00
49 m| 0001 25 m 0.0 28 m| 0006
39 m|_ 0000 0.0 45 m 0.0 18 m| 0010
32 m| 0008 30 m 0.0 08 m| _0.001
22 m| 0020 20om|__ | [_ 00__ 202 m| 0026 202
12 m| 0057 10 m 0.000 0.0 0.1 K40-01 [ =12 m|_ 0005 0.034 00
02 m| 0340 00 m 0.0 22 m| 0013
02 m| 0390 ~1.0 m 0.0 =32 m|_0.100
K31-01 =58 m| 0480 0.440 00 20 m 0.0 ~42 m| 0390
~18 m| 0930 26 m 0.0 52 m|_ 0170
=28 m|_ 0930 42 m| 0000 0.0 =62 m|_ 0031
=38 m| 0540 23 m 0.0 (72 m| 0000 |  [____
~48 m| 0150 K34-05 |_ 13 m|____ _ 0000 [ _o00__| o1 %82 m [ T0000
58 m|_ o000l |  |____ | 03 m 0.0 28 m| 0000
Z6.8 m | 0001 207 m 0.0 34 m| 0000 0.0
39 m| 0.000 17 m 0.0 33 m| 0000
34 m| 0000 0.0 38 m| 0000 23 m|_ 0000
24 m| 0000 32 m| 0001 01 13 m| 0000
14 m| 0023 23 m|_ 0000 K40-03 [ 03 m| 0.003 0.049 00
<3105 |04 m| 0120 0,050 00 K506 0 m|__ 0036 00 07 m|_0029
206 m|_ 0610 : : 13 m| 0000 17 m| 0003
~16 m| 0.170 03 m| 0006 22 m| 0014
18 m| 0082 27 m] o008 _|  [____|
=27 m|_0005_ | — 37 m[ 0010 ™
=37 m | 0001
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. ROty ST S 2.+ 36 e L p— ROty T FERTEY ] p— ROty T EERTE ]
KB | ono) | BHE | BTK | BHE | BFK | o L8 FTREE KB | anoy | BHE | BTK | BHE | BFK | o L8 FTREE RE | anpy | BHE | BTK | BHE | BFK | o L8 FREE
(mg/L) (mg/L) (mg/L) (mg/L) (AP m) (mg/L) (mg/L) (mg/L) (mg/L) B (AP m) (mg/L) (mg/L) (mg/L) (mg/L) (AP m)
22 m| 0000 m 37 m|_ 0001 45 m 0.0 m
38 m| 0000 0.0 m 27 m| 0000 0.0 42 m| 0000 0.1 m
27 m| 0000 m 19 m| 0000 30 m 0.1 m
20 m m 09 m| 0310 20 m 00 m
K41-01 [ 17 m| 0000 | 0038 |~~~ 7] o0 [T T T m | L30-06 | =01 m| 1.100 0.250 0.0 L3401 P M~~~ ] 0007 F=%5—7 03
0.7 m| 0000 m —11 m| 0410 00 m 0.0
~03 m| 0001 m 21 m|_o00t | [ ____ 10 m 00
13 m| 0003 m 29 m| 0002 20 m 00
23 m| 0004 m 31 m| 0001 45 m| 0000
21 m| 0000 m 43 m| 0000 40 m| 0000
24 m| 0000 0.0 25 m 28 m| 0000 30 m| 0000
16 m| 0002 - 16 m 24 m| 0002 0.0 [ 20 m[ 0008 _] oo [____]
0.6 m| 0008 m 18 m| 0000 1.0 m[ 0003 :
K41-04 [ 04 m| 0017 0.044 0.0 m L31-01 [ 0.8 m| 0004 0.0 00 m| 0000
14 m| 0011 m —0.2 m| 0005 —10 m| _0.000
23 m|_0005_ |  [____ ] I m | 12 m|_o0000 | [ ____ T _m] 20 m| 0000
—24 m| 0003 ~22 m|_ 0.000 L34-02 | 40 m 0.0
—34 m| 0,000 —30 m| 0.000 40 m 14
39 m 0.0 44 m| 0001 25 m 0.0
34 m| 0010 0.1 29 m| 0000 00 20m| | [ ___]
24 m 0.0 29 m| 0000 15 m 0.0 0.4
20 m| | | ___ _20m| [ ____ 05 m 0.0
L28-02 [ 14 m 0.000 0.0 00 L31-04 |19 m| 0000 0.0 ~05 m 0.0
04 m 0.0 09 m| 0001 15 m 0.0
~0.6 m 0.0 ~02 m| 0007 25 m 0.0
16 m 0.0 —12 m| 0000 46 m| 0000
26 m 0.0 22 m| 0000 36 m| 1.100
20 m|_ 0000 0.0 49 m| 0000 28 m| 0046
25 m| 0006 0.1 39 m| 0000 0.0 1.8 m| 0070
20 m| 0011 0.1 20ml____ | [____ I 08 m| 0041
15 m| 0005 0.0 L3107 |4 m | 0000 00 —0.2 m| 0050
L28-06 [ 05 m|_0005_ | 0005 [_ 00__| 00 04 m| 0000 : 12 m| 0033 0.430
—05 m| _ 0.000 0.0 —0.6 m| 0.000 22 m| 0020
—15 m| 0000 0.0 —16 m| 0000 25 m| 0014
25 m| 0000 0.0 26 m| 0000 ~32 m| 0007
29 m| 0000 28 m| 0010 L34-09 | 42 m| 0028
71 m| 0000 26 m| 0028 0.0 (52 m| 0000 |  [____]
36 m|_ 0011 0.0 13 m| 0009 262 m| 0000
26 m| 0042 03 m| 0049 44 m 0.0
L28-07 [_1.6 m|_0003_ | 0001 [__ _ | 0.0 0.7 m| 0170 36 m 00
06 m| _ 0000 1.7 m| 0130 29 m 0.0
—04 m| _0.000 132702 =51 o028 00 19 m 0.0
—0.5 m| _ 0.000 ~34 m| 0033 09 m 0.0 0.1
241 m| 0000 —37 m| 0060 01 m 0.0
37 m| 0025 0.0 —47 m| 0050 11 m 0.0
26 m| 0010 57 m|_o0006 | [ ____ 21 m 0.0
20 m 6.7 m|_ 0.000 52 m
L2808 1= %= T o000 ] °%%° [T~ 02 m 47 m| 0000 51 m 0.0
0.6 m| 0000 m 41 m| 0000 0.0 41 m| 0000 0.2
—04 m| 0002 m 32 m| 0000 33 m 0.1
—05 m| _0.001 m 22 m| 0000 L35-06 | 2.3 m 0.008 0.0 0.0
38 m| 0002 m L32-04 [_20 m|__ _ _ _ oos4 [ 0.0 20m| ___ | [ ___]
26 m| 0006 0.0 31 m 12 m|_ 0001 13 m 0.0
23 m| 0015 - 23 m 02 m| 0000 03 m 0.0
13 m| 0000 m —0.8 m| 0.000 45 m| 0000
L28-09 | 03 m| 0220 0.130 0.0 m 18 m| 0.000 38 m| 0000 0.0
—05 m| 0810 m 45 m| 0000 30 m| 0000
—0.7 m| 0310 m 37 m| 0000 0.0 20 m| 0072
—17m|_o0000_ | [ ___] I m | 30 m| 0000 10 m| 0033
—2.7 'm| _ 0001 Lap-0g |20 m|_0002 _| oo [ ___ 00 be——__—__m] L36-04 | 00 m| 0017 0.610 0.0
39 m|_ 0000 0 m| 0000 m —0.3 m| 0030
26 m| _0.001 0.1 00 m| 0000 00 m 1.0 m| 0023
24 m| 0000 10 m| _0.000 10 m 20 m| 0018
14 m| 0000 20 m| 0000 m ~30 m| 0000
L29-02 r =7 =T 0000 | 000 |T———— 00 m 44 m| 0.000 m [Z20 m[ 0000 "] 00 [TTTTT m
—0.6 m| _0.000 m 29 m| 0000 0.0 m
—16 m| 0.000 m 24 m| 0028 24 m
2.6 m| 0000 m 14 m| 0008 m
L3306 =04 m| o002 | %% [TT—— 00 T T ]
—0.6 m| 0004 m
—16 m| 0000 m
22 m| 0000 m
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. ) ST FER A e ) ST FER A e oty ST FER A
RE | apmy | BHE | BTK | BHE | BFK | o | L6 TREE RE | oy | BHE | BTK | BHE | BFK | o | L THRE RE | oy | BHE | BTK | BHE | BFK | o | L TREE
(mg/L) (mg/L) (mg/L) (mg/L) " (AP m) (mg/L) (mg/L) (mg/L) (mg/L) (AP m) (mg/L) (mg/L) (mg/L) (mg/L) (AP m)
44 m|_ 0020 16 46 m|_ 0011 0.0 39 m|_ 0.000 m
42 m| 0000 0.0 43 m|_ 0000 0.0 36 m|_ 0.000 0.0 m
29 m|_ 0.000 31 _m]|__0.000 0.0 24 _m|_ 0008 33 m
1.9 m| _0.100 21 _m|_ 0000 0.0 14 m| 0.000 m
09 m| 0044 11 _m|_ 0.000 0.0 04 m|_ 0021 04 m
L36-05 |01 _m| 004 0.280 0.1_m|_ 1.000 0.0 L39-03 =56 m | _0.006 0260 00 m
—03 m|_ 0085 : La7-0p |09 _m| 0450 5500 08 1.6 m|_ 0011 m
14 m| 0018 10 m| 0400 - : 26 m| 0000 |  [____| R m_
24 m| 0027 —20 m|_ 0.360 236 m[ 0000
34 m| 0031 —30 m| 0.380 —37 m|_ 0.000
44 m|_o0000_ |  [____—1  BOd__ _44im| =40 m| 0000 50 m| 0000
53 m| _ 0.007 —50 m| 0034 38 m| 0000 0.0
78 m 0.0 60 m|_o0009 | [ ____ 30 m| 0003
42 m| 0000 0.0 ~70 m|_ 0.000 20 m| 0003
33 m 0.0 42 m|_ 0000 L39-04 [ 10 m| 0028 0.150 0.0
~ 23 m 0.0 40 m| 0000 0.0 oo m[ 0001 _| [ ___] [ m
L36-05 5 0.0 01 2.7 _m|__0.000 4.0 m[__0.001
03 m 0.0 1.7 _m|__0.001 —2.0 m|_ 0.000
44 ml____ | [___1 @ Bed___tam | 07 m| 0000 =30 m|__0.000
—03 m| 0039 48 m| 0000
46 m| 0000 L37°04 =55 ] o0.160 0076 00 36 m|_ 0017 0.0
41 m|_ 0000 0.0 13 m|_0.120 26 m|_ 0021
31 _m|_ 0002 —23 m|_ 0.001 1.6 m | 0.006
21 m|_ 0003 —33 m|__ 0.000 139-07 [ 06 m|_0.071 0.100 0.0
11 m| 0040 s ml__ | [____ I (04 m[ 0008 _|  [____] I
01 m| 0031 0.480 324 'm| 70000
—0.7 m|__ 0.000 40 m|_ 0.000 m —24 m|_ 0.000
—09 m| 0047 35 m| 0000 0.0 m —2.7 m|_ 0.000
19 m| 0033 25 m|_ 0.006 m 46 _m|_ 0.000 0.0
L36-07 [ =29 m|_o0000_ | [____ | 15 m| 0004 15 m 41 m| 0130 0.3
=39 m| _ 0.000 05 m|_ 0230 m 29 m| 0002 0.0
42 m 0.0 s [Z05 m[ 0550 05 m 1.9 m|_0.009 0.0
41 m| 0000 0.0 L3707 08 m | 0.460 0280 00 m L39-09 |09 m[ 0011 0410 0.0 00
2.7 m 0.0 15 m|_0.380 m —01_m|__0.040 : 0.0 :
17 m 0.0 01 —25 m|_ 0.180 m 11 _m|_ 0030 0.0
07 m 0.0 : —35 m| 0003 m 21 m| 0001 _| [ 00 |
03 m 0.0 45 m|_o0008 | [ ____ I =26 m| 0000
29 m|____ 1| | ____ 78 m —31 m|_ 0.000
40 m 0.0 44 m| 0000
44 m|_ 0001 36 _m|_ 0.000 0.0 33 m|_ 0.000 0.0
39 m|_ 0.001 25 m 0.0 2.3 m|_ 0.000
29 m|_ 0004 137-09 [ 15 m 0.004 0.0 02 1.3 m|_ 0.007
1.9 m|__0.000 05 m 0.0 03 m|_ 0035
09 m| 0046 o5 m|____ | [____ ~0.7 m|_0.100
—01 m| 0028 1.800 L40-05 [ 1.7 m| 0024 0.390 0.0
—04 m|_0.120 40 m|_ 0000 —27 m|_ 0021
41 m|_0.100 35 m|_ 0056 —32 m|_ 0053
—21 m|_ 0021 25 m|_ 0240 =37 m|_ 0.130
L36-08 =53 m[ _o000_ | [ ___ | 15 m|_oool | 002 [ 47 m|_0080
—41 m| 0000 05 m|_ 0.000 57 m| 0008 |  [____| N
40 m 0.0 -05 m 0.000 6.7 m 0.001 m
39 m 0.0 138-04 [ 44 m 0.0 46 m|_ 0011 0.0 m
25 m 0.0 3.6 m 0.0 3.8 m 0.005 0.0 m
15 m 0.0 03 29 m 0.0 31 m|_ 0011 0.0 31 m
05 m 0.0 19 m 0.0 0.2 21 m 0.004 0.0 m
=iml__ | [ ____ 5wl | [____ 11 m| 0019 0.0 11 m
09 m 0.0 L40-07 [ 01 m| 0007 0.011 0.0 0.1 m
74 m| 0000 0.0 01 m 0.0 0 m| 0008 0.0 m
43 m| 0000 42 m|__0.000 —20 m| 0005 0.0 m
2.8 _m|_ 0.000 41 _m|__0.000 0.0 25 m| 0072 m
18 m| 0.000 28 m| 0000 35 m| 0000 |  [____| N m_
08 m| 0160 ~ 20 m 45 m[ T0.000 m
L36-09 [ =02 m|_0.110 0.100 0.0 L38-06 = 5=~ 5.000 0014 00 33 m]|_ 0.001 m
08 m|_ 0220 0.7 m|_ 0.001 2.8 _m|_ 0.000 0.0 27 m
12 m|_ 0310 —03 m|__ 0.000 1.8 m|__0.000 [ O | 18 m
22 m| 0066 13 m| _0.000 08 m| 0038 m
32 m|_0000__| — 29 m|__0000 L41=04 07 m[ o002 0120 00 m
=42 "m |~ 0.000 7 31 m| 0000 0.0 -0.2 m| 0008 m
20 m|_ 0000 —09 m m
L39-01 m ST =t 0050 |- ———— 0.0 B s B —_———f———TL
—0.1_m|__ 0.000
m

£ #45-6
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(mg/L) (mg/L) (mg/L) (mg/L) (AP m) (mg/L) (mg/L) (mg/L) (mg/L) (AP m) (mg/L) (mg/L) (mg/L) (mg/L) (AP m)
33 m 0.000 39 m 43 m 0.000 0.0 m 46 m 0.000 m
3.0 m 0.011 0.0 m 39 m 0.000 m 39 m 0.000 0.0 m
1.8 m 0.000 1.8 m 24 m 0.002 m 31 m 0.000 m
L41-05 [ 10 m| | 0003 |__ _ _ _| 0.0 . m_ | 14 m 0.011 14 m 21 m 0.000 21 m
08 m 0.002 m 04 m 0.007 m 1.1 m 0.000 m
-02 m 0.002 m -0.6 m 0.020 -06 m M36-08 01 m 0.017 0.110 0.0 01 m
~11 m| 0000 m M35-04 =76 m [ 0017 bk 00 m 07 m| 0032 m
48 m 0.000 m -1.9 m 0.029 m -09 m 0.026 m
22 m 0.074 0.0 m -26 m 0.057 m -19 m 0.037 m
-04 m 0.000 05 m -36 m 0.054 m -29 m 0.000 m
M29-02 14 "m| 0000 | ) S 0 m | _ 46 m|_ 0000 | | ___ _ | _m] F39 m[ 0000 ] @ [TTTTT T TTTTTT m
-24 m 0.000 -24 m -56 m 0.000 m 43 m 0.000 0.0 m
-3.1 m 0.000 m 44 m 0.000 0.0 44 m 35 m 0.000 0.0 m
45 m 0.009 m 42 m 0.000 m 28 m 0.000 0.0 3.3 m
3.8 m 0.000 0.0 m 27 m 0.037 m 1.8 m 0.000 0.0 m
29 m 0.009 m 1.7 m 0.007 1.7 m 0.8 m 0.000 0.0 m
1.9 m 0.008 - 1.9 m 0.7 m 0.014 m -02 m 0.000 0.1 m
M29-05 09 m 0.009 0.015 0.0 09 m M35-06 -0.3 m 0.006 LatLy 00 m M37-02 | -1.2 m 0.021 1.9 0.1 m
-0.1 m 0.008 m -0.8 m 0.015 m -22 m 6.3 m
-1.1 m 0.008 m -1.3 m 0.022 m -3.2 m 3.2 m
-21 m 0.007 m _—&3_m___0.(£)0_ ______ | m_] -42 m 15 m
;2._3_m_ __________ o m_ | -3.3 m 0.000 -52 m 0.7 m
44 m 0.003 | 62 m| ] | _ 00 _ | __ =62 m_
41 m 0.000 m 39 m 0.000 -72 m 0.0 m
3.9 m 0.000 0.0 3.9 m 34 m 45 m 0.000 m
_2£_m_ ________________ m | 29 m 0.002 38 m 0.000 m
1.6 m 0.000 - 1.6 m 1.9 m 0.003 3.0 m 0.000 - 35 m
M33-09 0.6 m 0.000 pl2e 00 m M36-01 09 m 0.150 0280 m 20 m 0.000 20 m
-04 m 0.000 m -0.1 m 0.010 m 1.0 m 0.000 m
-14 m 0.000 m -04 m 0.018 m M37-03 0.0 m 0.018 0.190 m
-24 m 0.000 m _—&9_m______ | | m_] -04 m 0.000 m
44 m 0.003 0.0 m -1.0 m 0.000 m
41 m 0.000 0.1 m 42 m 0.0 m -20 m 0.000 m
29 m 0.003 0.7 3.7 m 39 m 0.0 39 m -__29_L" ____________ N I m_
1.9 m 0.055 0.0 - 1.9 m 34 m 34 m
09 m 0.050 0.0 m 27 m 0.0 29 m 43 m 0.0 m
M34-03 | -0.1 m 0.021 0.240 0.0 0.2 m M36-01 1.7 m 0.0 0.1 09 m 3.8 m 0.0 35 m
-1.1 m 0.003 0.0 m 0.7 m 0.0 m 2.8 m 0.0 - 20 m
-1.7 m 0.008 m 0.3 m 0.0 m 1.8 m 0.0 m
21 m 0.018 m -29 m m 08 m 0.0 m
=31 m|_o0009_ | [ ___] 1 m | N e N M37-03 =05 m 0.1 o2 m
41 m 0.005 m 44 m 0.001 -09 m 0.1 m
45 m 0.0 m 38 m 0.000 -19 m 0.1 m
43 m 0.000 0.0 m 29 m 0.001 | 29 m| | L_ 00 _ | m
30 m 0.0 m _20m| 049 [ -39 m 0.0
20 m 0.0 m 19 m 0.059 41 m 0.000
M34-06 1= 0~~~ 7] 0000 \==5—— Ol T T T 0 m | 09 m|_ 0021 3.8 m|_ 0.000
00 m 0.0 m -0.1 m 0.039 26 m 0.000
-1.0 m 0.0 m M36-03 36 m 0.0 1.6 m 0.000
-20 m 0.0 m 38 m 0.0 M37-04 | 06 m 0.018 2.100
42 m 0.000 0.1 21 m 0.0 04 m 0.016
39 m 0.000 m _20m| | L____ 0.2 -0.7 m 0.220
24 m 0.000 m 11 m 0.0 _—_1.4_2 __0202 ________
18 m| ] 0038 |____ |  BO 9 _____ m | 0.1 m 0.0 -24 m 0.000
14 m 0.002 m -09 m 0.0 43 m 0.0
04 m 0.002 m 37 m 0.000 38 m 0.0
M35-03 -0.6 m 0.009 m 34 m 0.000 0.0 28 m 0.0
42 m 0.000 0.1 m 22 m 0.000 M37-04 1.8 m 0.0 07
33 m 0.1 m M36-06 1.2 m 0.001 0220 00 0.8 m 0.0 :
18m) 1  |__C 00_ | B0 23 m_ | 02 m 0.007 : : -02 m 0.0
08 m 0.0 0.0 m -08 m 0.018 _—_1.4_11 ____________
-02 m 0.0 m 18 m|_ 0000 | | ___ _
-12 m 0.0 m | =28 m| 0000 | m
-2.2 m 0.0 m

5567
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(mg/L) (mg/L) (mg/L) (mg/L) (AP m) (mg/L) (mg/L) (mg/L) (mg/L) (AP m) (mg/L) (mg/L) (mg/L) (mg/L) s (AP m)
21 m|_ 0000 m 43 m| 0000 46 m| 0000 52 m
37 m| 0000 m 35 m| 0002 0.0 41 m| 0000 0.0 41 m
26 m| 0000 26 m 28 m| 0000 31 m| 0000 m
16 m| 0001 - 16 m M41-03 [_20 m|__ _ _ _ 0037 [ __ __ 0.0 21 m| 0000 21 m
06 m| 0072 m 78 m| 0000 20 m m
—01 m| 0.100 b2y m 08 m| 0000 N32-07 P70 ooco —] %% [~~~ 7 N m_
04 m| 0120 m ~0.2 m| _ 0.000 01 m| 0000 m
—14 m| 0068 m 42 m| 0000 —0.9 m| 0000 m
—24 m|_0000_ |  [____ ] I m | 37 m| 0000 00 19 m| 0000 m
M37-05 | =34 m| _0.000 27 m| 0029 29 m| 0000 29 m
47 m 0.0 M41-07 [ 1.7 m|_0000 | 0260 [ _ 00 48 m 0.0 m
37 m 0.0 07 m|_ 0000 39 m| 0001 0.0 m
32 m 0.0 —0.3 m| _0.000 33 m 0.0 m
22 m 0.0 ~05 m| 0.000 23 m 0.0 m
12 m 0.0 0.4 49 m| 0000 N34-01 [ 20 m| _ _ _ | 0002 [__ _ | o1 [0 | ____ o m_
02 m 0.0 34 m| 0000 13 m 0.0 m
-0.8 m 0.0 28 m 0.000 0.0 03 m 0.0 m
24 m 24 m| 0000 0.7 m 0.0 m
B [ —— M42-01 ol 0045 | ——— 00 T o0 =
44 m| 0000 14 m| 0000 43 m| 0000 m
39 m| 0000 0.0 04 m| 0000 40 m| 0000 0.0 m
29 m 0.001 -06 m 0.000 24 m 0.003 24 m
18 m| 0003 42 m 0.0 14 m| 0002 m
09 m| 0033 37 m| 0000 0.0 04 m| 0003 04 m
M37-07 |01 _m| 0063 0290 00 27 m 0.0 N34-07 =06 m | 0330 e 00 m
~0.7 m| 0040 ; : 20 ml____ | [____ 16 m| 0280 m
1 m| 0017 N27-08 | 7.7 m 0.009 0.0 0.1 20 m| 0000 |  [____] ] m
21 m| 0066 07 m 0.0 26 m[ 0000
31 m| 0029 03 m 00 ~36 m| 0000
=41 m|_o0000_ |  |[____ ] 13 m 00 47 m| 0000
~51 m| _ 0.000 23 m 00 24 m| 0024
47 m|_ 0000 47 m|_ 0000 12 m| 0003
32 m| 0000 34 m| 0000 0.0 05 m| 0007 0.006
29 m| 0003 0.0 32 m| 0000 —01 m| 0013
M38-05 |22 m| 0000 0038 00 22 m| 0000 —irm[ o0005_|  [____]
20 m 20 m 27 'm] 0000
B [N — N29-03 —&=_Tl ___ _ 0013 F———— 00 N36-03
12 m | 0000 1.2 m|_ 0.000 37 m 0.0
02 m| _0.000 02 m| 0000 24 m 0.0
~0.9 m| 0.000 ~0.8 m| 0.000 22 m 00
38 m| 0000 —18 m| 0.000 12 m 0.0 05
37 m| 0003 0.0 28 m| 0000 02 m 0.0
M38-06 | 23 m| 0001 0018 00 44 m| 0000 i | [ ___]
20m|____ | | ___ 35 m| 0000 0.0
13 m| 0000 29 m| 0000 44 m| 0000 0.0 m
29 m| 0000 20ml____ | [____ 38 m| 0000 00 8 m
22 m| 0061 0.0 N31-09 | 179 m| 0000 0.011 00 19 m| 0000 0.0 9 m
M38-08 [ 09 m|_0000_ | 0750 [__ | 00 09 m| 0000 09 m| 0022 00 m
08 m| 0002 —01 m| 0.000 N37-01 [ 0.1 m| 0015 0.014 0.0 08 m
~01 m| 0.000 11 m| 0000 1 m| 0057 0.0 m
23 m| 0000 =21 m| 0000 21 m| 0040 0.0 m
36 m| 0030 0.0 39 m| 0000 31 m| 0000 |  [____ | m
28 m| 0015 34 m| 0000 00 Z7 m| ~0.000
18 m|_o0002_ |  |[____ ] 20ml____ | [____ 46 m 0.0
M39-07 | T0.8 m| _ 0.007 0.120 0.0 15 m|_ 0.006 31 m 0.0
—0.2 m| 0002 N32-04 05— [ 0.000 g2y 00 N37-06 |29 m| 0.000 0.004 0.0 ag
1.2 m| 0.000 —05 m| _ 0.000 21 m : 0.0 :
22 m| 0000 15 m| 0000 20om| ___ | [C___]
2.7 m|_0.000 25 m| _ 0.000 17 m 0.0
48 m| 0000 45 m| 0000
33 m| 0000 30 m|_0.001
23 m| 0000 0.0 21 m| 0021 0.0
23 m|__0000 N38-02 ™90 m| o000 | 9016 [ ] 00
M40-02 [ 20 m|__ _ | 0061 [__ | o0 I __1_____m| 10 m| 0000
13 m| 0000 m 00 m| 0000
0.3 m| _0.000 0.3 m 3.9 m|_ 0.000
—0.7 m| _0.000 m 31 m| 0035 0.0
17 m| 0000 17 m 19 m| 0046
N38-06 | 09 m| 0002 | 0004 [__ _ | 0.0
201 m| “0.000 m
11 m| _0.000 m
16 m| 0000 m

2558
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(mg/L) (mg/L) (mg/L) (mg/L) (AP m) (mg/L) (mg/L) (mg/L) (mg/L) (AP m) (mg/L) (mg/L) (mg/L) (mg/L) (AP m)
3.7 m 0.0 42 m 0.000 42 m 0.0 m
30 m| 0007 0.2 38 m| 0000 0.0 35 m| 0000 0.0 m
22 m 0.0 27 m| 0000 27 m 0.0 32 m
N38-09 [ 20 m| | 0001 |[__ _ _ | 0.0 20m____ | [____ 17 m 0.0 - 18 m
12 m 0.0 031-06 |_ 1.7 m|_ 0.000 0.068 00 07 m 0.0 m
02 m 0.0 07 m| 0000 —03 m 3.6 m
~08 m 0.0 ~03 m| 0000 13 m 00 m
41 m 0.0 —13 m| 0.000 039-08 [ —2.3 m 0.000 0.1 0.2 m
26 m 0.0 2.3 m| _ 0.000 33 m 0.6 m
25 m| 0003 0.0 47 m|_ 0000 —43 m 2.1 m
N39-08 20 m| __ | 0002 e 37 m| 0000 0.0 53 m 3.0 m
16 m 0.0 3.2 m 0.000 -6.3 m 2.7 m
06 m 0.0 22 m 0.000 -73 m 2.8 m
72 m| 0000 031-09 [_20 m|__ _ _ _ oot4 [ _ _ __ 00 83 m| ____| [ ___] N m_
25 m| 0000 0.0 72 m| _ 0.000
20m|____ | |____ | _m] 02 m| 0001 47 m| 0000 0.0 m
15 m| 0003 —0.8 m| _0.000 34 m| 0000 0.0 m
N40-01 55— T 0.000 b129 00 18 m| 0.000 32 m| 0000 0.0 m
—05 m| 0.000 41 m 0.0 22 m| 0000 0.2 m
—15 m| _0.000 40 m 12 m| 0000 0.2 12 m
25 m| _ 0.000 31 m| 0000 0.0 02 m| 0000 0.4 - m
46 m| 0000 26 m 0.0 —0.8 m| 0010 0.1 —08 m
25 m| 0011 00 O30T M0 ml_____ 0002 0 1.8 m| 0000 01 m
13 m|_o0001_ | [ ___ ] 76 m 0.0 039-09 | 28 m| 0001 0.033 0.0 1.0 m
N40-06 [ 0.3 m| 0008 2.500 0.0 06 m 0.0 —38 m 0.1 m
~0.7 m| 0002 04 m 00 ~48 m 0.1 m
17 m| 0010 34 m|_ 0000 0.0 58 m 0.3 m
26 m| 0000 31 m| 0000 0.0 6.8 m 1.1 m
28 m| 0000 19 m| 0000 0.0 78 m 1.3 m
28 m| 0004 0.7 03703 39" m | 0,000 bli 0.2 U —88 m 0.1 m
179 m| 0002 0075 —orml____ | [_ 00_ _ (98 m| __ _ _| [ 00 | N m_
09 m| 0008 : 114 m 0.0
—oiml____ | | ___ 43 m| 0000 50 m 0.0
11 m 30 m| 0001 0.0 38 m| 0000 0.0
48 m 0.0 28 m| _ 0.000 35 m 0.0
N40-09 e 0004 0.7 1.8 m| 0000 25 m 0.0
19 m 0.2 08 m| 0027 0098 040-01 | 15 m 0.001 0.0 0.1
0.9 m 0.1 04 —02 m| 0011 : 05 m 038
oI ml____ | | 00_ | : ~03 m| 0068 05 m 02
11 m 0.0 m 12 m| 0008 15 m| ] [ _o00 |
21 m 0.0 m 21 m 25 m 0.0
=31 m 0.0 m 03801 =5~ %ooo | [~ 44 m 0.0
44 m| 0000 m 47 m 0.0 28 m| 0000 0.0
29 m| 0000 38 m 30 m 0.0 1.8 m 0.0
28 m| 0000 0.0 . m 19 m 0.1 08 m 05
N41-01 [ 1.9 m| 0011 0.038 0.0 19 m 09 m 0.1 42 040-03 0% m 0.007 2.0 2
09 m| 0024 m 01 m 0.0 : 12 0.1
01 m|_00CO_ | |___ | A m_ | -1.1 m 0.1 |22 m| | | _ 00 _ | .
11 m| 0000 m A R . 00__ 37 m 0.0
39 m| 0000 m 31 m 0.0 46 m 0.0
29 m 0.001 0.0 m 42 m 0.0 31 m 0.0 .
24 m| 0000 24 m 33 m| 0000 0.0 25 m| 0000 0.0
20 m m 27 m 0.0 21 m 0.0
N41-02 1= =T gooo_ ] %% |~~~ 00 T T4 m ] 1.7 m 0.1 040-06 —=—1 0.005 0.0 3 .
04 m| 0000 m 07 m 0.0 01 m 0.1
~0.7 m| 0.000 m 038-03 | 03 m 0.004 01 20 09 m|[ __ _ | [ 00 | [ m
1.7 m| 0000 m 3 m 0.0 39 m 0.0 m
42 m 0.0 m -23 m 0.1 3.8 m 0.0 m
26 m| 0000 0.7 m —33 m 0.1 26 m| 0004 0.2 m
18 m 0.6 23 m ~4.3 m 0.0 16 m 0.1 21 m
NATZ0S o | 0002 oo | 03 m [5am| | [~ 00 _ m 041-02 [ 06 m 0.000 0.1 07 - 06 m
-02 m 0.0 _—_0.4_m______ L _00 _ | R I m_
-1.2 m 0.0 -14 m 0.0 m
72 m| 0000 24 m 0.0 m
20 m| 0001 0.0 47 m|_ 0000 0.0 m
20 m 38 m 0.003 0.0 m
N41-09 1 =5 "]~ 5000 0055 00 32 m| 0013 0.8 37 m
0.6 m| 0000 22 m| 0003 0.0 m
04 m| 0000 041-09 5 0020 e 0.0 o 12 m
02 m| 0023 0.0 m
| 08 m] _0002 | L _00 _ | T m_
38 m| 0001 m

2 #%5-9
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- D 7o FERRIE A . D 7o FERR L A — D T R
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(mg/L) (mg/L) (mg/L) (mg/L) B (AP m) (mg/L) (mg/L) (mg/L) (mg/L) (AP m) (mg/L) (mg/L) (mg/L) (mg/L) (AP m)
43 m 0.000 6.8 m 49 m 0.000 m 44 m 0.0 57 m
3.8 m 0.000 0.0 43 m 0.000 0.0 m 35 m 0.000 0.0 m
28 m 0.006 34 m 0.000 42 m 29 m 0.0 m
1.8 m 0.034 0170 24 m 0.000 m 19 m 0.0 m
08m| o0005_| " [____1  EBOod_____m] 14 m| 0000 m pag_g |09 m 0,003 0.0 o1 m
0.2 m 0.000 P35-06 04 m 0.330 0.062 0.0 m 0.1 m ’ 0.0 ’ m
-1.2 m 0.000 -0.6 m 0.014 m -11 m 0.1 m
-1.6 m 0.001 -1.6 m 0.004 m 21 m 0.1 m
042°04 55 m 00 =20 m| 0011 m 3iml___ | 00 | —_3dm
38 m|_0.000 0.0 26 m|_o0000 | [ ____ T m ST m 0.0 m
30 m 0.1 -3.6 m 0.000 46 m 0.000 m
20 m 0.0 0.2 45 m 0.000 3.8 m 0.000 0.0 m
1.0 m 0.0 ’ 41 m 0.000 0.0 3.1 m 0.000 m
8ml____ | ____1  BOod_____m] 30 m| 0.002 2.0 m[_0.000 m
00 m 0.0 m 0O m 0.005 P39-3 11 m 0.000 0.003 m
10 m 0.0 m P35-07 =74 m| 0005 | %01 [T~~~ 00 01 m| 0000 m
44 m m 00 m 0.000 0.9 m 0.000 m
29 m m -10 m 0.000 —_12_ ml_ 1 L ___ m
19 m m -20 m 0.000 -1.9 m 0.000
1.3 m 0.000 0.0 43 m 0.001 49 m 0.0
09 m m 3.9 m 0.000 38 m 0.000 0.0
P27-09 0.1 m 0.000 00 -0.1 m 28 m 0.017 28 m 0.0
-1.1 m m 1.8 m 0.000 1.8 m 2.6
21 m 21 m 0.8 m| 0003 1400 P33 ™08 m 0.0 UL
29 m|__ |1 | _____ A m | 02 m 0.540 : -02 m 6.9
-2 m| 0460 q2m| __ __| [_o00
2.7 m 15 m|_o0000 | [ ____ 22 m 0.0
1.7 m 0.000 0.0 22 m 0.000 47 m 0.000 0.0
1.2 m P36-03 | -3.2 m 0.009 32 m 0.000 0.0
02 m 50 m 0.0 23 m 0.001 0.0
P28-01 =5g m 0.000 00 39 m 0.0 20ml | [____|
-1.8 m 3.5 m 0.0 P40-2 22 m 0.000 0.046 0.0 0.9 m
;2._1 N D A 1 __m] 25 m 0.0 12 m 0.003 0.0 m
15 m 0.0 0.1 02 m 0.002 0.0 m
42 m m 05 m 0.0 -08 m 0.000 0.0 m
31 m 0.000 0.0 m -05 m 0.0 -1.8 m 0.004 0.0 m
27 m m _—LS_m_ __________ 39 m 0.0 m
1.7 m m 26 m 0.000 0.0 m
P28-09 0.7 m 0.000 0.0 m 48 m 0.000 24 m 0.0 24 m
-03 m m 44 m 0.000 0.0 P40-7 14 m 0.007 1.4 0.6 m
-1.3 m m 3.3 m 0.003 04 m ' 0.2 ’ 04 m
-23 m m P36-05 23 m 0.012 0.043 0.0 -0.6 m 0.1 m
Y D R E— I P ™ Comlows | [ ___ S I (00 ___[____. m
03 m 0.000 26 m 0.0 m
47 m 0.000 m 0.7 m 0.003 30 m 0.0 m
43 m 0.008 0.0 m 46 m 0.0 28 m 0.010 0.2 m
29 m| 0000 m 31 m 0.0 a5 ml | o0 _|  Om___ 20 m_
20m|____ 1 ____ I m 30 m| 0002 0.0 P41-2 [ 05 m 0.003 0.0 0.1 - =05 m
P34-04 19 m 0.000 0.310 0.0 m 21 m 0.0 4.7 m 0.0 m
09 m| 0000 09 m P03 o m|_ 0003 09 15 m 0.0 m
01 m 0.000 m 1 m 0.0 25 m 0.0 m
-11 m 0.000 -11 m 0.1 m 0.0 34 m 0.0 m
-21 m 0.000 m -09 m 0.0 30 m 0.003 0.1 m
45 m| 0000 m 38 m 0.0 a9 m| | —o0o | eE___ 27 m_
36 m|_0.000 0.0 m 23w ___ | [_ 00__ P41-5 [ 09 m 0.001 0.0 0.2 m
30 m 0.000 m 2 m 0.002 0.0 -01 m 0.0 m
pag_0o |20 m[_0000_ | .. [C__ ] 00 - — 20 m | P30T 13 m 0007 0.1 02 -1 m 0.0 11 m
10 m 0.000 10 m 03 m 0.0 -21 m 0.0 m
01 m 0.000 m -0.8 m 0.0 31 m 0.0 m
-1.1 m 0.000 m 3.9 m 0.0 25 m 0.006 0.4 25 m
21 m 0.000 m 34 m 0.000 0.0 16 m 0.0 m
45 m | _ 0.000 m 24 m 0.1 PaT P e ml "] 0000 =75 —7 O T 706 m
41 m 0.000 0.0 m P38-6 14 m 0.084 0.1 0.1 -3.6 m 0.0 m
30 m 0.004 30 m 04 m 0.1 -14 m 0.0 m
PI5-01 —omT 000l | 0% [ I o ] e w1 [ 00
10 m| 0001 70 m =76 m| 0.0
00 m 0.002 m
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<5#HEX>
= D 7o FERR L A o= D 7o FERR L A — D 7o FERR I A
X & (A;'Er'n) BHE Tk BHE K Py L TR iRE XE (A’E'Er'n) BHE Tk BHE Tk Py Lif-TIRRE XH (A’;'Er'n) BHE Tk BHE Tk Py L T iRE
(mg/L) (mg/L) (mg/L) (mg/L) (AP m) (mg/L) (mg/L) (mg/L) (mg/L) (AP m) (mg/L) (mg/L) (mg/L) (mg/L) (AP m)
3.3 m 0.001 42 m 0.000 m 29 m 0.0
25 m 0.001 0.0 3.7 m 0.000 0.0 m 22 m 0.030 0.1
1.8 m 0.000 27 m 0.000 m 1.4 m 0.1
0.8 m 0.000 1.7 m 0.000 1.7 m 04 m 0.1
Q36-3 | -0.2 m 0.340 0.160 0.0 0.7 m 0.000 m Q38-03 | -0.6 m 0.001 0.0 0.0
-12 m 0.004 Q37-01 | -0.3 m 0.005 0.330 0.0 m -16 m 0.2
21 m 0.017 -1.3 m 0.051 m -26 m 0.1
=22 m|_o0002_ |  |[_____| =16 m| 0.050 m (36 m| ____| 00 |
-32 m 0.000 -23 m 0.088 m 46 m 0.0
42 m|_ 0000 33 m|_oo000 | [ ____ I m] 28 m 0.0
38 m 0.000 0.0 43 m 0.000 22 m 0.002 0.1
27 m| 0002 20 m 0.0 Q38-06 [ 13 m| ___ | 0000 [_o00 | oOf
1.7 m 0.000 3.5 m 0.000 0.0 0.3 m 0.0
07 m 0.000 25 m 0.0 -0.7 m 0.0
@364 53 m [ _ool6 0037 00 . Q37-02 20 m|__ __ _ 0000 [ __ __ 0.1 30 m 0.0
-1.3 m 0.050 -1.3 5 m 0.0 21 m 0.003 0.1
23 m|_ 0001 | | ___ _ | _ m_ | 05 m 0.0 1.5 m 0.0
-28 m 0.004 m -05 m 0.0 Q39-08 05 m 0.000 0.1 0.1
=33 m| 0004 m 22 m 0.0 05 m| __ _ _| [_o00
46 m 0.000 m 27 m 0.000 0.0 -1.5 m 0.0
34 m 0.000 0.0 m 27 m 0.1 25 m 0.0
31 m 0.000 m 20 m 37 m 0.1
21 m| 0.000 m Q3705 =TT 0000 =—F5=— 01 30 m| 0.000 0.0
1.1 m 0.002 m 0.7 m 0.0 22 m 0.0
0.1 m 0.110 0.1 m -04 m 0.0 1.2 m 0.1
Q36-5 00033 0.062 0.0 -:—0.9 = - 00 R39-02 |55 ———— 0000 | —55— O
-1.5 m 0.260 m 47 m 0.0 -0.8 m 0.0
-1.9 m 0.420 m 34 m 0.000 0.0 -1.8 m 0.0
29 m 0.150 m 32 m 0.0 -28 m 0.0
=39 m|_0003__|  [____] I n] | qar-0s 22m 0,003 00 o X000 BEG 00 L. BB NRERB Cho_LZmd .
49 m | _0.008 m 20 m|_ neat I '
49 m 0.000 m 1.2 m 0.0
32 m 0.000 0.0 m 02 m 0.0
20 m 0.000 m -08 m 0.0
1.0 m 0.230 m 35 m 0.000
00 m 0.360 m 29 m 0.000 0.0
-1.0 m 0.075 m 20 m 0.000
Q36-6 | -2.0 m 0.100 13.000 0.0 m 1.0 m 0.002
-3.0 m 0.002 m 00 m 0.025
40 m 0.150 m Q3708 | -1.0 m 0.091 0.057 0.0
-50 m 0.022 m -1.7 m 0.100
6.0 m 0.014 m 20 m 0.110
;7£ ml| (LOQO _______ _ m_ | -30 m 0.027
-8.0 m 0.000 _—iO_m_ _ _0(1)5_ ______
46 m 0.000 -50 m 0.001
33 m 0.000 0.0 42 m 0.0
31 m 0.000 3.2 m 0.000 0.0
21 m 0.000 27 m 0.0
11 m 0.000 20 m
Q36-8 01 m 0011 0.013 0.0 Q3709 — E =y e 0.003 o 04
0.9 m 0.140 0.7 m 0.0
-1.8 m 0.015 04 m 0.0
;1._9 ml_ (lOQO _______ -14 m 0.0
-29 m 0.000 52 m 0.0
3.9 m 0.000 3.7 m 0.0
3.1 m 0.000 0.0 27 m
24 m 0.000 21 m 0.000 0.0
1.4 m 0.000 1.7 m 0.0
04 m 0.160 0.7 m 0.0
06 m 0570 4.300 Q38-02 03 m 0.002 00 0.1
-1.5 m 0.002 -1.3 m 0.1
-1.6 m 0.018 23 m 0.0
=26 m|_o00i_ | [ ___ | -33 m 0.1
Q36-9 | 36 m 0.000 _—iS_m_ _______ 00 _ | _m_]
42 m 0.0 =53 m| 0.0 m
3.1 m 0.000 0.0
27 m 0.0
1.7 m 0.0
0.7 m 0.0 0.2
04 m 0.0
-14 m 0.0
26ml____ o]
|
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RE | o0 [ EHE | BT | BHE | TK | o |LH FRRE RE | o0 [ EHE | BT | BHE | TK | o | LB FRRE RE | o) [ BHE | BT | BHE | BTK | o | LH FRRE
(mg/L) (mg/L) (mg/L) (mg/L) (AP m) (mg/L) (mg/L) (mg/L) (mg/L) (AP m) (mg/L) (mg/L) (mg/L) (mg/L) (AP m)
44 m 0.0 m 30 m|_ 0000 0.0 m 36 m| 0000 0.0 m
35 m| 0000 0.0 m 25 m 0.1 m 31 m 0.0 m
29 m 0.0 m _L5_r1_____ __20___ m 21 m 0.0 m
20 m m 04 m 0.0 __2.231 _____________ m
19 m 00 m ~05 m 00 i1 m 0.0
A0§-09 |—xo 0.001 00 0.1 o A11-03 =20 0.000 00 0.1 B08-03 —-— 0.004 o0 0.1
01 m 0.0 ~01 m 25 m 0.0 09 m 0.0
11 m 0.2 m —35 m 0.0 19 m 0.0
21 ml 1 w__ | B 21 m | ~45 m 0.0 29 m 0.0
~31 m 0.0 55 m 0.0 39 m 0.0
45 m 0.0 31 m| 0000 00 39 m| 0000 0.0
35 m| 0000 0.0 25 m 0.0 3.4 m| 0000
30 m 0.0 C20ml____ | [____1 24 m| 0000
20 m|____ | 00_ _ 15 m 00 (2o0ml 1 [ ___1
i0 m 0.0 05 m 00 14 m| 0000
A07-02 | 00 m 0.000 0.0 0.1 A0S =55 0.001 00 02 BO8-09 04— T 0.000 0.004 01
10 m 0.0 14 m 0.0 —0.7 m| _0.000
20 m 0.0 25 m 00 1.7 m| 0000
—30 m 0.0 —35 m 0.0 —27 m | _ 0.000
~40 m 0.0 ~45 m 0.0 ~37 m| 0.000
50 m 0.0 38 m| 0026 0.0 38 m| 0000 0.0
44 m 0.0 33 m| 0000 31 m| 0003
35 m| 0000 0.0 23 m| 0000 21 m| 0008
29 m 00 | 20 m] _ __ _ ] | 1t m] _000C_ | [ ____ |
19 m 0.0 13 m|_ 0.000 01 m[ 0000
A07-07 | 09 m 0.005 0.0 0.1 A20-09 | 03 m| 0000 0.000 0.0 BO9-01 =59 m T 0.000 o 00
~01 m 0.0 —0.7 m|_0.000 —1.9 m| _ 0.000
11 m 02 17 m|_ 0000 ~29 m|_ 0000
=i ml 00_ 227 m| 0000 ~39 m| 0000
~31 m 0.0 37 m| 0000 ~49 m| 0000
35 m| 0000 0.0 ~47 m| 0000 39 m| 0000 0.0
00 m 20 m| 0000 0.0 34 m| 0000 0.0
A08-04 [ =20 m 0.003 0.0 35 m| 0000 24 m| 0000 0.0
=6 ml____ | _____ 25 m| 0000 14 m| 0000 00
20 m 04 m| 0000 00
35 m|_ 0.000 0.0 (15 m| o000 | [~ ~77] BO9-09 =55 T 0.000 0.140 0.0 1.6
30 m 0.0 05 m| 0000 —16 m| _ 0.000 0.1
20m|____ ] | 00__ A25-08 =55 m| 0,000 0015 00 26 m|__0.000 02
70 m 00 15 m| 0000 —36 m| 0000 00
A09-03 [ 0.000 50 0.2 1001 1 T | =t =
10 m 00 ~35 m|_ 0000 38 m| 0000 0.0 m
20 m 0.0 —45 m | _ 0.000 33 m 0.0 m
~30 m 0.0 55 m| 0.000 23 m 0.0 23 m
37 m| 0000 0.0 25 m| 0000 13 m 0.0 m
32 m 0.0 35 m| 0000 0.0 03 m 0.7 m
22 m 0.0 30 m| 0001 00 B10-01 =55, DU 0.1 g2 07 m
20 m|____ | _____ 20 m|_ 0000 _ o0 | 17 m 0.1 m
12 m 0.0 B06-03 [ 1.0 m|  0.000 0.027 0.0 03 27 m 0.1 m
A09-09 o 0.000 00 2 —01 m| 0005 00 37 m 0.0 m
208 m 00 =11 m| 0005 00 752 m m
18 m 00 21 m| 0000 00 36 m| 0000 0.0 m
28 m 0.0 ~31 m| 0000 00 31 m 00 m
38 m 0.0 35 m| 0000 0.0 21 m 00 21 m
3'(5) o 0.000 00 B06-04 g'g o 0.000 0.0 (1)} m 88 0
A10-01 | == M — ] 0000 l=————— 08 e | S B10-02 —~ 0.008 : 1.4 '
m -10 m -09 m 0.1 m
m 39 m| 0025 0.0 19 m 0.0 m
35 m m 34 m 0.000 _—_2.231 _____________ | m
20 m 24 m| 0000 29 m 0.0
A10-02 | === — = — - — 0001 l=————m 02 B e D Y 50
m B06-06 |_14_m | 0000 0.000 00 34 m| 0000 0.0
34 m| 0000 04 m| 0000 29 m| 0016 0.0
29 m| 0000 0.0 m —0.6 m| _0.000 19 m| 0014 0.0
19 m| 0000 0.0 m —16 m| _ 0.000 09 m| 0028 0.0
09 m| 0000 0.0 m ~26 m|_ 0.000 ~0.1 m| 0005 1.1
201 m| 0007 2.1 m ~36 m| _0.000 B10-03 | -1.1 m| 0014 0.120 1.6 13
AT0°08 7 000z | %21 [T o0_ | % BO 1 ____ m 21 m| 0000 00 21 m|__0000 00
~91 m| _ 0002 0.0 m 26 m —31 m|_0.000 0.0
~31 m| 0.001 00 m B07-05 20 m|__ 0000 00 ~41 m| 0000 0.0
-41 m 0.0 m 06 m| |46 m| | | ____
=51 m 0.0 m m
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RE | apmy | BEE | BTK | BHE | BFK | o p | L8 TREE RE | apmy | BEE | BTK | BHE | BFK | o | L8 TREE RE | aom | BEE | BTK | BHE | BFK | o | L8 TREE
(mg/L) (mg/L) (mg/L) (mg/L) (AP m) (mg/L) (mg/L) (mg/L) (mg/L) (AP m) (mg/L) (mg/L) (mg/L) (mg/L) (AP m)
39 m| 0000 0.0 m 27 m| 0000 0.0 m 39 m| 0000 0.0 m
34 m 0.0 m 26 m 0.0 m 34 m 0.0 m
24 m 0.0 24 m _éo_rl ___________ m 24 m 1.2 m
14 m 0.7 m 16 m 0.0 14 m 0.3 m
04 m 0.2 04 m 06 m 0.0 04 m 0.0 04 m
B10-04 [ <06 m 0.000 0.6 0.7 m B12°05 0000 0.0 04 B26707 o6 m — 1 0007 =%~ ¥ Eo T m_
16 m 20 m 14 m 0.0 16 m 0.0 16 m
-26 m 0.2 m -24 m 0.0 -26 m 0.0 m
36 m 0.0 m 34 m 0.0 36 m 0.0 36 m
_—4._4_m_ __________ I P m | -44 m 0.0 -46 m 0.0 -56 m
~46 m 0.0 30 m| 0000 0.0 45 m 0.0 m
37 m| 0000 0.0 26 m 0.0 35 m| 0000 0.0 m
34 m 1.0 _&O_rl ___________ 30 m 0.0 m
24 m 00 16 m 0.0 (20 m| ___ | o0 _ |  [mem___ 2.7 m_
14 m 0.0 06 m 0.0 10 m 0.0 i0 m
04 m 0.2 B12-09 -05 m 0.001 0.0 ol C06-08 00 m 0.000 0.0 0.1 m
B10-05 | 0.7 m 0.000 0.0 0.2 15 m 0.0 10 m 0.0
17 m 0.0 25 m 0.0 20 m 0.0
27 m 0.0 35 m 0.0 30 m 0.0
37 m 0.0 —45 m 0.0 ~40 m 0.0
=46 m|____ | I ____ ] 36 m 0.0 50 m 0.0
26 m| 0000 0.0 37 m| 0250 0.0
35 m|_ 0000 0.0 21 m 0.0 32 m| 0000 0.0
29 m 0.1 20 m|____ | [____] 22 m| 0001 0.1
19 m 0.0 11 m 0.0 12 m| 0000 0.1
09 m 00 B13-07 | 01 m 0.000 0.0 05 02 m| 0000 0.0
B10-06 | =0.1 m 0.000 1.7 0.4 09 m 0.0 COT-01 =5 T o000~ ] %% [~Bo—7 2°
“aml____ 1 00_ _ 19 m 0.0 19 m| 0000 0.0
91 m 0.0 29 m 0.0 29 m| 0000 0.0
31 m 0.0 39 m 0.0 —39 m| 0.000 0.0
41 m 0.0 ~4.9 m 0.0 —44 m| 0000
38 m|_ 0000 0.0 25 m| 0000 0.0 36 m| 0000 0.0
33 m 0.0 20 m| _0.000 0.0 31 m 0.0
22 m 0.1 10 m| 0008 0.2 21 m 0.0
13 m 00 00 m| 0034 0.0 [20m| ___ | [____1
B10-07 | 03 m 0.000 0.3 0.1 10 m| 0.000 0.0 i1 m 0.0
e - B13-08 01— 000 0.120 00 39 C07-02 o0 0.000 00 0.1
17 m 0.2 —30 m| 0000 0.0 09 m 0.0
27 m____ | I _ 00_ _ I ~40 m| 0000 0.0 19 m 0.0
-37 m 0.0 m _—iB_rl__O.@O_ _______ o _m] -29 m 0.0
38 m| 0000 0.0 m 39 m 0.0
33 m|_ 0.000 0.0 m 40 m|_ 0.000 0.0 36 m|_ 0.000 0.0
23 m| 0000 0.0 23 m 35 m| 0.000 0.0 31 m 0.0
13 m| 0006 0.0 m 25 m| _ 0.000 0.0 21 m 0.0
B10-08 [ 0.3 m| 0023 0.100 31 05 03 m C20ml____ | [____] 11 m 0.0
0.7 m| 0002 0.2 m 15 m|_ 0.006 00 C09-01 [ 01 m 0.000 0.0 0.1
17 m| _0.001 0.1 m B25-03 | 05 m| 0.000 0.034 0.0 0.2 0.9 m 0.0
=27 _m|_ 0.000_ | __00_ _ I m | 05 m| 0000 0.0 19 m 0.2
~37 m |~ 0.000 0.0 15 m| 0000 0.0 (29 m| ___ | [ 00 |
33 m| 0000 0.0 25 m| 0000 0.0 39 m 0.0
m —35 m| 0002 0.0 36 m|_ 0.000 0.0
B10-09 m 0.000 0.0 ~45 m | 0.000 0.0 30 m| 0000 0.0
—teml____ | _____ 20 m| 0000 0.0 20 m| 0000 0.0
35 m 0.0 70 m| 0000 0.0
33 m| 0.000 0.0 25 m 0.0 00 m| 0000 0.0
28 m|_ 0.000 0.0 15 m 0.0 C09-02 =0 T 0.000 0.071 0.0 06
1.8 m| 0.000 0.0 05 m 0.0 20 m| _0.091 0.3
08 m| 0010 02 B25-09 =65 m 0.000 00 02 (30 m| 0002 00 |
0.2 m| 0.000 03 15 m 0.4 240 m[ ~0.000 0.0
BU-0T =72 m[ _ooo0_| %08 [~ o0 | 08 25 m|_____ 00| 50 m| _0.000 00
—92 m|_ 0.000 0.0 35 m 00 37 m| 0000 0.0
32 m| 0000 00 ~45 m 0.0 31 m 1.7
—42 m| 0.000 0.0 36 m|_ 0.000 0.0 21 m 0.0
52 m| 0000 0.0 31 m 0.0 11 m 0.0
33 m|_ 0.000 0.0 21 m 0.0 C09-03 [ 01 m 0.000 0.0 0.2
28 m| 0000 0.0 11 m 0.0 0.9 m 0.1
18 m| 0.000 0.0 01 m 0.1 19 m 0.0
08 m| 0001 0.0 B26-05 =59, 0.000 0.1 3 Errii [T 00 ]
02 m| 0014 0.0 19 m 0.0 39 m 0.0
B11-07 —T3 m] 0000 0.016 —00 0.8 === Bty -
—92 m|~ 0.000 0.0 m 39 m 0.0 m
32 m| 0000 00 m ~49 m 0.0 m
—42 m| 0.000 0.0 m
—48 m| 0000 m

£3%5-13

ES

ANZ
A

26
i



F5E BTSRRI S

RGeS R (B D

<6H#HRX>
— RoBo T7o e R _— RoBo o7 R _— RoBo o7 e R R
RE | apmy | BEE | BTK | BHE | BFK | o | L8 TREE RE | apmy | BEE | BTK | BHE | BFK | o | L8 TREE RE | apm | BEE | BTK | BHE | BFK | o | L8 TREE
(mg/L) (mg/L) (mg/L) (mg/L) i (AP m) (mg/L) (mg/L) (mg/L) (mg/L) ™ (AP m) (mg/L) (mg/L) (mg/L) (mg/L) ™ (AP m)
3.7 m| 0006 0.0 m 31 m|_ 0.000 0.0 31 m 1.8 m|  0.00 0.0 m
32 m 0.0 m 26 m| 0012 0.0 m 13 m 0.0 m
20 m 0.0 m 16 m| _0.021 0.1 16 m 03 m 0.0 m
1.1 m 0.0 1.1 m 06 m| 0019 0.1 m 0.7 m 0.1 0.7 m
C10-01 | 01 m 0.000 00 0.1 m —0.4 m| 0007 0.0 m 17 m 0.2 m
-0.9 m 0.0 -0.9 m C11-08 =% T oot Dy 0.1 gL m C13-08 =5, 0.000 0.2 e 27 m
-19 m 0.7 m -24 m 0.000 0.2 m -3.7 m 0.0 m
29 m|____| 1 00_ _ I m | 34 m] 0000 | _00 _ | L _m_] ~47 m 00 m
-39 m 0.0 -44 m 0.000 0.0 m _—_5.211 _____________ N N m_
32 m| 0000 0.0 —49 m| 0000 m
29 m 0.0 30 m| 0000 0.0 m 37 m| 0000 0.0
_2._O_m_ __________ 25 m 0.0 m 32 m 0.1
i6 m 0.0 15 m 0.0 m 22 m 0.0
07 m 0.0 05 m 0.9 05 m 12 m 0.0
C10-03 =3, 0.000 00 gl C12-03 [-05 m|_ _ _ _ _ 0000 [ _00 _| o04 . —___m ] [o7m| ___ 1 [___1
13 m 0.0 15 m 0.0 35 m ©20-05 [ 02 m 0.004 0.0 0.1
23 m 0.0 25 m 0.0 m —0.8 m 0.0
33 m 0.0 35 m 0.0 m 18 m 0.0
—43 m 0.0 —45 m 0.0 m 28 m 0.0
35 m|_ 0000 0.0 31 m| 0000 0.0 m 38 m 0.0
30 m| 0000 0.0 26 m| 0000 0.0 m ~48 m 0.0
20 m|_ 0.000 0.0 16 m| 0000 0.0 m 40 m|_ 0.000 0.0
1.0 m| 0001 0.0 06 m| 0000 0.0 m 35 m| 0000 0.0
00 m| 0012 0.0 —05 m| 0.000 0.0 04 m 25 m| 0000 0.0
C10-04 =0 | 0031 s 0.0 g C12-07 =4 [ 0.190 Gy 03 = . m 15 m| 0000 0.0
20 m| _0.000 0.0 24 m| 0009 0.1 24 m 05 m| 0.000 0.0
30 m]| 0000 | T o0 m 3.4 m| 0000 0.0 m C25-03 56 m | 0001 e 0.0 o8
~40 m| 0000 0.0 m 38 m|_o0000 | [ ____| I T 16 m| 0.001 0.1
-47 m 0.000 m -45 m 0.0 m _—_22 ml _OQ(E__ ___0.0___
32 m|_ 95000 05 m 31 m|_ 0.000 0.0 m 236 m| 0000 0.0
27 m| 0000 0.0 m 26 m 0.0 m —46 m| 0000 0.0
17 m| 0002 0.0 17 m 16 m 0.0 m 39 m| 0000 0.0
07 m| 4800 03 - 07 m 06 m 0.0 06 m 34 m 0.0
—0.3 m| 1400 03 m 0.4 m 0.1 m 24 m 0.0
C10-05 —=5— T 4.300 LY 05 L m C12-08 [ 14 m 0.000 02 49 m 14 m 6.1
23 m| 2000 0.1 m 24 m 0.2 24 m C26-04 | 04 m 0.000 1.6 0.3
—33_m|_0000_ | —-00_ _ I S m —34 m 00 m L 06 ml |00 _ |
—43 m| _ 0000 0.0 —44 m 0.0 m 38 m 0.0
-45 m 0.000 _—i7_nl ___________ o m] -26 m 0.0
33 m| 0170 0.0 36 m 0.0
28 m| 0002 0.0 26 m|_ 0.000 0.0 48 m 0.0
1.8 m| 0001 0.0 25 m 0.0 38 m| 0000 0.0
08 m| _0.000 0.0 15 m 4.2 33 m 0.0
—0.2 m| 1.200 0.0 05 m 05 23 m 0.0
C10-07 =5 m [ 3.300 ALy 12 32 c13-01 [05 m|__ __ _ 0001 [ _00_ _| 09 c26-08 | 1.3 m 0.000 13 0.1
=22 m|_ 0002_ | _ 00 _ ] 15 m 00 03 m 0.7
~32 m| 0009 00 m 25 m 00 (07 m| ___ | [ 00 |
—42 m| 0.000 0.0 m 35 m 0.0 37 m 0.0 m
—48 m| 0002 m —45 m 0.0 27 m 0.0 m
33 m|_ 0000 0.0 m 26 m| 0000 0.0 46 m| 0000 m
27 m 0.0 27 m 21 m 0.0 39 m 0.000 0.0 m
1.7 m 0.0 m 11 m 0.2 31 m| 0000 31 m
07 m 0.0 07 m 01 m 0.0 21 m| 0002 IIII m
03 m 0.0 m C13-02 =G5 m~ """~ 0000 F=Fo~—1 23 11 m| 0021 11 m
13 m 0.1 m 19 m 0.0 D06-05 | 0.1 m| 0.000 0.012 00 m
-0l =8, 0.000 0.0 07 m 29 m 0.0 [0 m[ 0000 |1 [ "7 T
33 m 0.2 m 39 m 0.0 20 m| 0.000
—43 m 0.0 m 26 m| 0000 0.0 —30 m| 0000
53 m 0.0 m 21 m 0.0 —40 m| 0000
—S4ml____ | _____ I m | I o0 _| —44 m| 0000
01 m 0.0 33 m| 0000
31 m|_ 0000 0.0 m C13-05 =9 m 0.000 0.0 19 28 m| 0000
25 m 0.0 m 19 m 0.0 18 m| 0009
15 m 0.0 m 290 m 0.0 08 m| 0.130
05 m 0.0 05 m 39 m 0.0 02 m| 0.000
05 m 0.1 m 25 m|_ 0.000 0.0 DO8-05 == 0T o000 ] %% [————7 00 m
15 m 0.2 . 15 m 20 m 0.0 22 m| 0000 m
C11-07 -25 m 0.000 0.5 L m 10 m 0.0 -32 m 0.000 m
35 m 0.2 m 00 m 0.1 —42 m| 0000 m
“45 m 0.0 m C13-07 =0, 0.000 02 43 ~44 m] 0000 m
-47 m m -20 m 0.4
oo ml_ I 00_ _ ——d m | 30 m] ___ _ | _00 _ |
[ ~40 m | 0.0 m
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RE | apmy | BEE | BTK | BHE | BFK | o | L8 TREE RE BHE | WK | BHE | BEK | .p | L FERE RE | apm | BEE | BTK | BHE | BFK | o | L8 TREE
(mg/L) (mg/L) (mg/L) (mg/L) ™ (AP m) (mg/L) (mg/L) (mg/L) (mg/L) ™ (AP m) (mg/L) (mg/L) (mg/L) (mg/L) ™ (AP m)
34 m| 0000 0.0 0.000 0.0 m 29 m| 0000 0.0 m
29 m| 0000 0.000 0.0 m 24 m| 0000 0.0 m
1.9 m| _0.000 0.000 0.0 m 14 m| 0005 0.1 m
09 m| 0250 0.260 0.0 m 04 m| 0021 05 04 m
D08-06 | -0.1_m|_0000_ | 3300 |__ _ _ _ 0.0 D10-08 0.006 1.200 0.3 06 m 06 m| 0012 0.2 . m
~ii m| _ 0000 0.340 0.1 m D11-09 | =16 m| 0.009 6.100 05 29 16 m
21 m| 0000 0000 _ 00 _| m 26 m| 0040 0.4 m
31 m| 0.000 0.000 0.0 —36 m| 0000 0.0 m
—41 m| 0000 0.000 0.0 ~43 m| 0000 m
31 m| 0000 0.0 0.000 0.0 (=26 m| _0000 [ 00 | ] m
26 m| 0000 00 0.000 0.0
16 m| 0000 0.0 0.000 0.0 27 m|_ 0.000 0.0
06 m| 0.000 0.0 0.021 0.0 22 m| 0000 17.0
D08-08 | -0.4 m | 0.290 2.300 0.0 0.2 D10-09 0.000 19.000 03 2.7 12 m| 0000 0.2
14 m| 0057 0.0 3.800 1.3 02 m| 0.000 0.3
24 m| 0000 0.0 0.001 0.1 —0.8 m| 0020 0.3
~32m |~ 0000 ] “ o0~ 0000 _ 00| D12702 =75 | 0001 1.800 06 34
—44 m| 0000 00 0.000 0.0 m 28 m| 0004 03
3.2 m|_ 0.000 0.0 0.000 0.0 m —38 m| 0004 0.0
27 m| 0000 0.000 0.0 m (=45 m| 0001 _| [ ___]
17 m| 0000 0.018 0.1 15 m 48 m 0.0
07 m| 0028 0.150 04 m 29 m| 0000 0.0
D09-07 | -0.3 m| 0.006 0.540 00 40.000 930 m 24 m| 0000 0.0
{3 m| o000 | |77 D11-01 1.200 LY 0.5 63 m 14 m| 0007 0.0
23 m|_0.000 m 0.020 0.6 25 m 04 m| 0014 03
—33 m| 0000 m 0.001 0.1 m —0.6 m| 0014 0.2
43 m 0.000 m 0.004 0.0 m -16 m 0.058 0.7
32 m| 0000 00 ™ . ~ 00 ] T T T T T D12704 =6 m | o044 S 04 &
27 m| 0000 0.0 m 0.000 0.0 m —36 m| 0.001 0.0
1.7 m| _ 0.000 0.0 1.7 m 0.000 0.0 m —45 m|_0.170
07 m| 0120 0.0 m 0.000 0.0 m —46 m| 0080 0.4
0.3 m| 1.000 0.0 m 0.001 0.0 05 m (=56 m| 0000 | [ 00 | N
D10-01 [ =13 m| 3.600 100.000 08 28 m 6.400 0.7 m 6.6 m| 0001 0.0 m
23 m| 0022 0.0 m D11-05 0.001 Gl 0.2 Gt 15 m 30 m| 0000 0.0 m
33 m| 0007 0.0 m 0.001 0.1 m 25 m| _0.000 0.0 25 m
—43 m| 0000 0.0 m 0.000 0.0 m 15 m| 0002 0.1 m
4T ml____ 1 _____ I m | 0.000 0.0 m 05 m| 0.000 0.1 05 m
0.000 m 05 m| 0001 0.2 m
30 m|_ 0000 0.0 m 0.000 0.0 m D12-05 [ =15 m| 0.000 10.000 0.3 8.0 m
25 m|_ 0.000 0.1 m 0.000 0.0 m 25 m| 0.000 03 m
15 m|  0.000 0.1 18 m 0.000 0.0 14 m —35 m| 0.000 0.0 m
05 m| 0004 0.7 m 3.600 7.7 m —45 m 0.0 m
05 m| 8400 26 m 3.300 0.7 m 47 m m
D10-02 | =15 m| 18.000 62.000 34 12.0 m D11-06 0.000 el 0.3 el 3 R R e N
25 m| 0.000 0.0 m 0.009 03 26 m 30 m| 0000 0.0 m
—35 m| _0.000 0.4 m 0.000 0.0 m 30 m| _0.000 0.0 m
—45 m| 0000 0.0 m 0.000 m 15 m| 0000 0.0 m
_—4._7_m_ __________ I P m | 0.0 m 05 m 0.000 0.0 m
255 m 0.0 m 0.000 0.0 m 05 m| 0000 05 m
3.1 m|_ 0.000 0.0 m 0.000 m D12-06 | =15 m| 0014 0074 03 0.9 15 m
26 m|_0.000 0.0 m 0.000 m 25 m| 0.000 0.2 - 25 m
16 m| 0001 0.0 m 0014 m =35 m| 0000 | [ 00 _ | N m_
06 m| 0000 0.0 m D11-07 3.200 0.130 00 m Z25 m| ~0.000 0.0 m
—0.4 m| 0.000 0.0 m 18.000 m 55 m| _ 0.000 0.0 m
D10-04 =17 m o160 | 0% 0.1 1.6 m —o000 | 0 [____1 oo __= 2 m 59 m|__0.000 m
=24 _m|_ 0000__| 00 _ m 0.000 m 29 m| 0000 0.0 m
~34 m| 0000 00 0.000 m 24 m| 0000 0.0 m
—44 m| 0000 0.0 0.000 0.0 m 14 m| 0002 0.0 m
—46 m| 0000 0.002 0.0 m 04 m| 0056 0.2 04 m
30 m|_ 0.000 0.0 0.370 038 14 m —0.6 m| 0054 0.3 - —0.6 m
25 m| 0000 0.0 4.700 27.0 m D12-07 [ =16 m| 0045 19.000 0.1 04 m
15 m| 0310 0.0 0.170 0.2 m 26 m| 0020 0.4 m
05 m| 0059 0.0 D11-08 0.036 7.000 0.2 28 16 m —36 m| 0000 0.0 m
D10-07 [ =05 m| _ 0.000 0.098 0.0 0.3 0.030 0.3 m —42 m | _0.006 m
15 m| 0052 00 0.000 0.0 m (=46 m| 0008 _| [ 00 | R m_
=25 m|_ 0.000__| —_00_ _ 0.000 m
~35 m| _ 0.000 00 m 0000 _ C_00__| I T
-45 m| 0000 0.0 m [~
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<6H#HRX>
. N ST FER I A . RoTo ST S 5 - N 0 ] . ot ST e A
RE | apmy | BEE | BTK | BHE | BFK | o | L8 TREE RE | apmy | BEE | BTK | BHE | BFK | o | L8 TREE RE | aom | BEE | BTK | BHE | BFK | o | L8 TREE
(mg/L) (mg/L) (mg/L) (mg/L) i (AP m) (mg/L) (mg/L) (mg/L) (mg/L) ™ (AP m) (mg/L) (mg/L) (mg/L) (mg/L) ™ (AP m)
30 m| 0000 0.0 m 3.6 m| _ 0.000 0.0 m 34 m| _ 0.000 0.0
25 m 0.0 28 m 30 m 0.0 m 29 m| 0061
15 m 0.0 - 15 m 20 m|__ ___ 00 _| —_ 20 m_| 19 m| 0000
05 m 0.0 m 10 m 0.0 m 09 m 0.017
05 m 05 m E07-04 | 00 m 0.002 0.0 0.1 00 m E14-08 | =01 m| 0.000 0011 00
D12-09 =7 0.000 0.4 08 m 10 m 0.0 m [537 wm[ o000 ] [~~~
25 m 0.2 m 20 m 0.0 m —21 m| 0000
35 m 0.0 m 30 m 0.0 m —31 m| 0.000
_—4._2_m_ __________ . m | -40 m 0.0 m -41 m 0.000
~45 m 0.0 m 31 m| 0000 0.0 m 30 m| 0000 0.1
27 m|_ 0.000 0.0 m 26 m| 0000 0.0 m 25 m| _0.000 15
22 m 0.0 22 m 1.6 m| _ 0.000 0.0 1.6 m 15 m| 0890 0.0
12 m 0.0 . m 0.6 m| 5300 1.8 . m 05 m| 0068 0.0
02 m 0.0 02 m 0.4 m| 0084 0.2 04 m E19-09 | =05 m| 0011 0.088 0.0 00
08 m 0.1 m E11-01 | —14 m| 0.000 18.000 0.0 1.4 m 15 m| 0010 0.0
D13-01 =5 0.000 0.2 a2 m 24 m| 0000 0.1 m [ =25 m] ~0000 | [T 00 ]
28 m 0.0 m —34 m| 0000 0.0 m —35 m| 0.000 0.0
38 m 00 m ~42 m| 0002 m —45 m| 0000 0.0
—3_1____ 1 I ____ I m | =44 m|_ _ 00 _| I T 37 m| 0000 0.0
32 m| 0000
29 m|_ 0.000 0.0 2.9 m|_ 0.000 0.0 22 m| _0.000
24 m 0.0 24 m 0.0 [20om| ___ | [
20 m|____ 1| _____ 14 m 0.0 12 m| ~0.000 m
14 m 0.0 04 m 0.0 E20-04 | 02 m| 0.000 0.390 00 m
04 m 0.0 -06 m 0.0 -08 m 0.000 m
D13-06 —g =T 0.000 00 0.1 E11-02 =0T 0.000 00 0.7 s T 0000 -
-16 m 0.0 -26 m 0.1 -28 m 0.000 m
26 m 0.0 36 m 0.0 —38 m| 0.000 m
36 m 0.0 =44 _ | [____] —48 m| 0000 m
—46 m 0.0 4.6 m 0.0 38 m| 0000 0.0 m
38 m|_ 0000 0.0 31 m| 0000 0.0 33 m| 0000 m
33 m|_ 0.000 26 m| 0001 0.0 23 m| 0047 32 m
23 m| 0.000 16 m| 0000 0.0 (13 m| o0003_|  [____] . _____ m_
13 m| 0012 06 m| 0010 03 03 m| 0007 03 m
03 m| 0370 E19-07 | 04 m| 0005 e 0.3 a0 E20-05 =07 m [ 0000 0.030 00 m
D20-08 | -0.7 m| 0044 0.037 00 14 m| 0001 : 0.1 : 17 m| 0000 m
—17 m| 0002 24 m| 0002 03 —27 m| 0000 m
27 m| 0005 —3.4 m| 0000 0.0 —3.7 m| 0000 m
37 m| 0011 22 ml____ | C____] I T —43 m| 0000 m
=47 m|_oo002__|  |_____ 4.4 m | 0.000 m 30 m| 0000 0.0 m
~57 m | 0.000 31 m| 0000 0.0 m 25 m| 4.200 m
37 m| 0000 26 m 0.0 m [d5m| 0000 |  [____1  BOl_____ m_
3.2 m 0.000 16 m 0.1 m 05 m 0.000 m
22 m|_0.000 0.6 m 0.2 06 m —05 m| _0.000 m
20 m|_ 1 |_____ o __m] E12-03 -04 m 0.000 0.4 46 m E20-07 -15 m 0.000 0.760 00 m
D26-04 | 1:2 m| 0000 A m 14 m 03 . 14 m 25 m| 0000 m
02 m| 0005 m 24 m 0.2 m —35 m| _0.00 m
—0.8 m| 0000 —0.8 m 34 m 0.0 m —45 m| 0000 m
18 m| 0000 -E =42 | ___ | [ ___] I T —47 m| 0000 m
28 m| 0000 m 44 m 0.0 m 39 m| 0000 0.0 m
38 m| 0000 m 31 m| 0000 0.0 m 34 m| 0000 0.0 m
3.6 m 0.0 m 27 m 0.0 27 m 24 m 0.000 0.0 m
37 m 0.0 m 17 m 0.0 m __221’1 _____________ S N m_
21 m 0.0 m 07 m 0.0 . 07 m E26-04 | 14 m| 0000 1.000 0.0 2.2 m
20 m m 03 m 0.1 m 04 m| 0000 0.0
D26-04 | i1 m| | | 00 | o1 [T T77 m | E12706 =5 0.000 0.0 03 m —0.6 m| _0.000 0.0
01 m 0.0 m 22 m 03 m —16 m| 0.000 0.0
209 m 0.0 _ 08 m 33 m 0.0 m 26 m| 0000 0.0
-19 m 0.0 -18 m _—is_rl ___________ L m] 45 m 0.0
29 m 0.0 m 43 m 0.0 35 m| 0000 0.1 35
45 m| 0000 0.0 m 30 m| 0000 0.0 30 m 0.1
35 m|_ 0.000 0.0 m 25 m 0.0 20 m 0.0
30 m| 0008 0.0 m 20 m 10 m 0.4
20 m|_0.000 0.0 20 m Ci5 m| T T 00 ] FO6-01 =0 0.005 0.4 o4
1.0 m|  0.000 0.0 m 05 m 0.0 1.0 m 0.3
E06-08 [ 00 m| 0000 0021 00 06 m E13-06 05 m 0.000 00 03 20 m| ___ | 00 |
10 m| 0003 0.0 10 m 15 m 0.0 30 m 0.0 m
20 m| 0019 0.0 m 25 m 0.0 ~40 m 0.0 m
=30_m|_ 0.000_ | —_00_ _ I m | 35 m 0.0
~40 m | 0.000 0.0 m ~45 m 0.0
—49 m| 0000 m
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<6HE>
e "oEY T THE HIE RO e o 7o THE HIE RO e o T THE HIE R
X (A’Eran’q) BHE K BHE TRk pap LU TIHRE X (A”};Er'n) BAHE TRk BHE K 5 L TImRE XE (Aze"Erln) BHE K BHE K 5 L TIHRE
(mg/L) (mg/L) (mg/L) (mg/L) 7 (AP m) (mg/L) (mg/L) (mg/L) (mg/L) ™ (AP m) (mg/L) (mg/L) (mg/L) (mg/L) ™ (AP m)
3.7 m 0.000 0.0 m 3.7 m 0.000 0.0 m 3.1 m 0.000
32 m 0.000 m 32 m 0.0 m 26 m 0.000
22 m 0.000 m 22 m 0.0 m 1.6 m 0.004
12 m 0.000 m _&O_nl ___________ | m] 06 m 0.150
02 m 0.000 . 02 m 1.2 m 0.0 m -04 m 0.005 0.110
F06-03 -0.8 m 15.000 2600 06 m FO7-04 02 m 0.000 0.0 vz 02 m -14 m 0.009
-1.8 m 0.130 : ’ -1.8 m -0.8 m 0.0 m 24 m 0.000
28 m| 0045 m 18 m 00 18 m 25 m| | [____]
-3.8 m 0.000 m -28 m 0.0 m F09-05 | -34 m 0.000
47 m 0.000 m -3.8 m 0.0 m 30 m 0.0
=48 m|_o0000_ | | ___ I m 36 m|_ 0000 00 m 31 m 00
31 m 0.0 m 15 m 0.0
45 m 0.0 21 m 0.0 28 m 05 m 0.3 06
35 m 0.001 0.0 1.1 m 0.0 - 1.1 m -05 m 0.0 ’
30 m 0.0 01 m 0.0 m -15 m 0.3
20 m 0.0 F07-05 [ 09 m 0.000 00 0.1 m 25 m| | 00|
10 m 0.2 -19 m 0.0 m -35 m 0.0
FO6-04 oo m| | 0021 ™o | ™ 29 m 00 m 35 m| 0000 00
-1.0 m 0.0 -39 m 0.0 m 30 m 0.0
-20 m 0.0 46 mf|_ | L____] L m] 20 m 0.0
-30 m 0.0 1.0 m 0.0
40 m 0.0 46 m 0.0 F09-08 00 m 0.000 0.0 1.1
35 m 0.000 36 m 0.000 0.0 -1.0 m 04
32 m| 0000 31 m 00 (20 m| | 00 |
22 m 0.000 21 m 0.0 -3.0 m 0.0 m
12 m 0.000 - &O_rl ___________ =40 m 0.0 m
02 m 0.005 F07-08 1.1 m 0.000 0.0 0.1 3.5 m 0.000 0.0 m
F06-05 | -0.8 m 0.220 0.063 01 m 0.0 30 m 0.0 28 m
_—1._8 _m|_ 2020 _______ -09 m 0.0 20 m 0.0 m
28 m 0.000 -1.9 m 0.0 1.0 m 0.0 m
-3.8 m 0.000 29 m 0.0 00 m 0.0 00 m
48 m 0.000 -39 m 0.0 F09-09 | -10 m 0.000 0.1 0.5 m
-58 m 0.000 41 m 0.000 0.0 -20 m 0.0 m
45 m 0.0 36 m 0.0 -3.0 m 0.0 m
35 m 0.0 26 m 0.0 40 m 0.0 m
30 m 0.0 16 m 0.5 L —_41 ml___ 1 | __ m
20 m 0.0 06 m 0.3
0 m 00 FOT709 o2 m_ ___ _ e T 30 m|_ 0000 0.0
00 m 0.2 -14 m 0.0 25 m 0.140 0.0
F06-05 | -1.0 m 0.0 2.3 24 m 0.0 1.5 m 0.094 0.0
-8 ml_ | _____ 34 m 00 05 m|__0.000 00
30 m 00 44 m 00 F10-03 [ 05 m| 0000 | 0028 [_00 | 09
-30 m 0.0 3.2 m 0.000 0.0 -15 m 0.000 0.0
40 m 0.0 m 25 m 0.000 0.0
50 m 00 FO8-08 =3 m| ____ 0000 00 35 m|__0.000 00
-6.0 m 0.0 m m 42 m 0.000
3.7 m 0.000 0.0 35 m 0.000 0.0 m 35 m 0.000 0.0
32 m 0.0 30 m 0.000 0.1 m 30 m 0.0
22 m 0.0 20 m 0.000 0.3 20 m 20 m 2.3
1.2 m 1.5 1.0 m 0.970 0.4 m 1.0 m 0.4
F06—-06 02 m 0.001 0.0 0.8 00 m 0.220 1.2 00 m F10-07 00 m 0.006 0.2 1.0
B N 00~ F08-07 =70 m| 0.084 Lzl 0.3 g2 m ) 00
-18 m 0.0 _—Eo_rl__o.g)o__ __&0___ e m] -20 m 0.0
2.8 m 0.0 -3.0 m 0.000 0.0 -3.0 m 0.0
-3.8 m 0.0 40 m 0.000 0.0 40 m 0.0
36 m 0.000 0.0 =50 m 0.000 0.0 45 m 0.000 0.0
32 m 0.0 33 m 0.002 0.0 35 m 0.000 0.0
22 m 0.0 28 m 0.0 30 m 0.000 0.0
12 m 00 C2oml____ | [____1 20 m| 0004 0.1
02 m 0.0 1.8 m 0.0 1.0 m 0.000 0.0
FO7-01 | =09 m 0.000 0.2 04 F08-09 08 m 0.000 0.0 0.3 F10-08 00 m 0.000 Qee 0.1 e
19 m 0.1 02 m 00 (=10 m| 0004 00 | 1 m
29 m 0.0 -1.2 m 0.1 20 m 0.000 0.0 m
-39 m 0.0 -22 m 0.0 -3.0 m 0.000 0.0 m
sml____ 1 00__ 32 m 00 40 m| 0,000 00 m
29 m 0.000 0.0 m
26 m 0.0 26 m
16 m 0.0 . m
0.6 m 0.0 0.6 m
F11-03 | -04 m 0.000 0.0 0.1 m
-14 m 0.0 m
24 m 0.0 m
1 ) S Y ——— e m_
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RGeS R (B D

<6HE>
e N, 7o S L I e . N, 7o L H I e e N, 7o S L I o
X (ﬁi) BHE TRk BHE=E #hTIK 5% L FimiRE XE (ﬁi) BHE TR K BH=E K 5% L FimiRE XE (ﬁi) BHE T K BH=E K 5 L FimiRE
(mg/L) (mg/L) (mg/L) (mg/L) 7 (AP m) (mg/L) (mg/L) (mg/L) (mg/L) ™ (AP m) (mg/L) (mg/L) (mg/L) (mg/L) ™ (AP m)
30 m 0.000 0.0 m 43 m 0.000 m 45 m 0.000 0.1
25 m 0.0 m 38 m 0.000 m 35 m 0.000 0.0
2o0m|____ | _____ I m | 2.8 m|__0.000 m 30 _m|_0.000 0.0
1.5 m 0.0 m 1.8 m 0.000 m 20 m 0.000 0.0
F12-01 05 m 0.000 0.0 0.1 m 0.8 m 0.000 0.270 m 1.0 m 0.000 0.0
-05 m 0.0 -05 m -02 m 0.000 ’ - -02 m G07-03 00 m 0.010 0.060 0.0 0.2
-1.5 m 0.0 m -12 m 0.000 -1.2 m -1.0 m 0.001 0.1
25 m 0.0 . 25 m =22 m| 0000 m =20 m| 0000 | [ 00 |
=35 m 0.0 86wl ___ |  [____] T m 530 'm| 0000 0.0
34 m 0.000 0.0 40 m 0.000 0.0
30 m 0.0 F26-04 40 m 0.0 m 50 m 0.000 0.0
20m|____ | 00 _ 43 m 0.0 m 47 m 0.0
1.0 m 0.0 25 m 0.0 m 3.7 m 0.000 0.0
F13-02 00 m 0.003 0.0 o= 1.5 m 0.0 m 32 m 0.0
-10 m 0.0 05 m 0.0 m 22 m 0.0
20 m 0.0 -05 m 0.0 10 [NOF] 02 m | f2oml 1 [____] ol ___m
-30 m 0.0 -15 m 0.0 -12 m 12 m 0.0 m
33 m 0.000 0.0 25 m 0.0 m G07-04 02 m 0.000 0.0 L 02 m
30 m 0.0 -35 m 0.0 m -09 m 0.0 m
_2._0_m_ _______ 0 £__ __&6_'1 ___________ L __m] -19 m 0.0 -19 m
10 m 0.0 -29 m 0.0 m
F13-08 00 m 0.000 0.0 0.2 45 m 0.0 -39 m 0.0 m
-10 m 0.0 35 m 0.000 0.0 49 m 0.0 m
20 m 0.0 30 m 0.0 49 m 0.0 m
-3.0 m 0.0 20 m 0.3 3.8 m 0.000 0.0 m
=40 m 0.0 10 m 0.0 34 m 0.0 m
35 m|_ 0.000 0.0 G06-03 =g m[ — "~ 0003 =551 O 24 m 0.0 m
30 m|_ 0000 =10 m 0.0 [20ml 1 [____1 N m_
20 m 0.000 -20 m 0.0 1.4 m 0.0
1.0 m 0.360 -3.0 m 0.0 G07-05 04 m 0.000 0.0 o
00 m 0.001 40 m 0.0 -0.6 m 0.0
1901 1 =75~ " 0000 | %00 |77~~~ 00 44 m|_ 0000 0.0 16 m 0.0
20 m 0.000 35 m 0.000 0.0 2.6 m 0.0
-3.0 m 0.000 29 m 0.001 0.0 -3.6 m 0.0
40 m 0.000 19 m 0.002 0.0 46 m 0.0
~44 m | _0.000 0.9 m|_ 0000 _ 00| 47 m 0.0
31 m 0.000 0.0 G06-05 | -0.1 m 0.000 0.013 0.0 0.1 3.7 m 0.000 0.0
m -11 m 0.000 0.0 32 m 0.0
FI9°03 o m|__ | 0000 00 2.0 m|__0000 00 22 m 02
m =31 m| 0000 0.0 (2 m | 00 |
31 m 0.000 0.0 41 m 0.000 0.0 G07-06 02 m 0.000 0.0 0.1 m
26 m 0.069 =51 m 0.000 0.0 -08 m 0.0 m
16 m|_o000_ |  _____ 45 m| 0000 0.0 18 m 0.0 m
0.6 m 0.000 35 m 0.000 0.0 -2.8 m 0.0 m
04 m 0.000 30 m 0.005 0.0 -3.8 m 0.0 m
F20-01 -14 m 0.000 G 00 20 m 0.039 0.2 48 m 0.0 m
24 m 0.000 1.0 m 0.081 2.3 42 m 0.0 m
-34 m 0.000 G06-09 00 m 0.018 0.210 0.6 1.7 32 m 0.000 0.2 m
44 m 0.000 -1.0 m 0.036 13.0 27 m 0.0 27 m
=51 _m|_0.000 20 m|_ 0000 _ o0 | 17 m 0.0 . m
3.7 m 0.024 0.0 -3.0 m 0.000 0.0 0.7 m 0.1 0.7 m
32 m 0.000 40 m 0.000 0.0 Goa-01 -0.3 m 0.000 0.1 e m
22 m| 0000 =46 m | 0.000 Siam] 00 | I m_
20ml | _____ 48 m| 0000 0.0 23 m 0.0
1.2 m 0.000 38 m 0.000 0.0 -3.3 m 0.0
F25-09 02 m 0.000 0.000 e 33 m 0.000 0.0 43 m 0.0
-0.8 m 0.009 23 m 0.000 0.0 42 m 0.0
=18 m| 0.000 C20ml__ | ____| L m] 32 m| 0000 0.0
-2.8 m 0.000 1.3 m 0.000 0.0 m 27 m 0.0
=35 m| _0.000 Q0701 53 m [ 0008 0092 0.0 0 m [20ml | [____1
-0.7 m 0.000 0.0 m 1.7 m 0.0 m
-1.7 m 0.000 0.0 m G08-03 07 m 0.000 0.0 0.1 m
27 m 0.000 0.0 27 m -0.3 m 0.0 m
-3.7 m 0.000 0.0 m -1.3 m 0.0 m
47 m 0.000 0.0 =57 m -23 m 0.0 m
-33 m 0.0 m
43 m 0.0 m
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. BSE BT B H Y BT
<6HRX>
— e, 7o T AERE — D, 7> T AERE — T 7o T AERE
BB | o [ BEE | BTK | BEE | BIK | og |LH TERE BB | o [ BEE | TR | BEE | BIK | o | L TERE BB | o [ BEE | BTK | BEE | BIK | og | L TERE
(mg/L) (mg/L) (mg/L) (mg/L) (AP m) (mg/L) (mg/L) (mg/L) (mg/L) (AP m) (mg/L) (mg/L) (mg/L) (mg/L) (AP m)
25 m 0.0 m 25 m]_ 0.000 25 m 0.0 m
35 m| 0003 0.2 m 35 m| 0000 0.0 35 m| 0000 0.0 m
30 m 0.2 m 30 m|__0.000 30 m 0.0 30 m
20m|____ 1 oo_ | I 1_____ m 20 m|_0.000 20 m 0.1 . m
0 m 0.0 10 m 10 m| 0.000 10 m 0.0 10 m
G08-04 40 m 0.000 00 00 m G10-06 | 0.0 _m]__0.000 0.620 06 G105 |00 m 0,000 0.0 21 m
-10 m 0.0 10 m ~10 m| _0.000 -10 m : 0.0 : m
20 m 0.0 m =20 m| 0031 20 m 0.2 m
30 m 0.0 m 30 m|_oo000 | [ ____| 30 m 0.0 m
20 m 0.0 m 20 m | 0.000 20 m 0.1 m
25 m 0.0 m 27 m| 0001 (50 m| | 00 R m
35 m| 0000 0.0 m 22 m| 0000 00 %60 m 0.0
30 m 0.0 m 32 m| 0000 0.0 45 m|_ 0000 0.0
20 m 0.0 m 27 m| 0000 0.0 20 m
1.0 m 0.0 m 1.7 m 0.000 0.0 35 m 0.018 0.0
0.0 m 0.0 m 0.7 _m| 0000 0.0 3.0 _m|_11.000 13
G08-05 [ =1.0 m 0.000 0.0 0.7 10 m GI=01 =93 | 0.024 0170 0.0 02 20 m| 0006 0.1
20 m 0.0 m 13 m|_ 0001 _ _00__| G13-04 | 10 m| 0000 | 0450 |_00 | 22
30 m 0.0 30 m 23 m|_ 0000 0.0 0.0 m| 0006 0.0
=40 m 0.0 m =33 m|__0.000 0.0 ~10 m| 0002 0.0
50 m 0.0 m 42 m]| _0.000 20 m|__0.001 0.0
A P R I m 15 m 00 =30 m| 0000 0.0
35 m| 0000 0.0 =35 m| _0.000
40 m 0.0 30 m 0.0 46 m 0.0
30 m| 0000 0.0 20 m 0.0 35 m| 0000 0.0
25 m 0.0 1.0 m 0.0 31 m 0.0
15 m 0.0 G104 ™00 m 0.000 0.0 05 21 m 0.0
05 m 0.2 -0 m 0.1 20 m
G09-01 =55 0.000 02 09 20 m|_____ _o00__| G13-06 [ 11 m[ ] 0001 [T00 "] ot
Y D I 00__ 30 m 0.0 m 0l m 0.0
©55 m 0.0 ~20 m 0.0 m 209 m 0.0
-35 m 0.0 45 m 0.1 m -1.9 m 0.0
=45 m 0.0 35 m| 0000 0.0 m 29 m 0.0
21 m| 0000 30 m 0.0 m -39 m 0.0
31 m| 0000 0.0 20 m 0.1 20 m 25 m]_ 0000 0.0
26 m| 0000 1.0 m 0.0 m 39 m
16 m|__0.000 0.0 m 0.0 m 35 m| 0000 0.0
G10-01 |06 m| 0000 © 800 02 G1=05 =0 m 0.001 0.0 1.7 10 m 30 m| 0000 0.0
204 m|_0015 20 m 0.0 m 2.0 m|__0.000 0.0
—1am| o000 | | ___ 230 m 0.0 m 10 m|_0.170 0.0
54 m] _ 0,000 20 m 0.1 m 0.0 m| 0000 0.0
=34 m|__0.000 5o m|_____ 00| I G24-03 =90 m [ 0.3t 6.000 00 04
~21 m| _0.000 60 m 0.0 m 20 m| 0003 0.0
21 m|_ 0000 0.0 25 m|_ 0000 0.0 m =30 m|__0.000 0.0
3.1 m| 0000 0.0 34 m| 0000 0.0 m 39 m
2.6 m| 0000 0.0 30 m|_0.000 0.0 m =40 m 0.0
2oml____ |  _____ 20 m|_0.000 0.0 20 m B D R
6 m| 0,000 00 10 m| 0004 0.0 m
G10-02 [ 06 m| 0,000 0.059 0.0 04 G12-01 [ 00 m| 0002 0.039 0.0 10 00 m 37 m]_ 0000
04 m|_0.000 0.0 ~10 m|__0.000 0.1 m 36 m
~14 m|__0.000 0.0 =20 m|__0.000 0.1 m 2.7 m| 0000 0.0
2.4 m|_0.000 0.0 (30 _m|__0000 _ 00| L m | 22 m| 0002
=34 m| 0,000 0.0 20 m|_ 0.000 0.0 m 12 m| 0005
44 m ]| 0.000 0.0 50 m]| _0.000 0.0 m 0.2 m| 0000
25 m|_ 0000 0.0 45 m|_ 0000 0.0 m G24-06 =58 m | 0.140 0800 06
35 m | 430,000 86.0 35 m| 0000 0.0 m ~18 m| 0078
30 m| 0003 0.0 30 m| 0000 0.0 m =28 m|__0.000
20 m| 0075 0.0 20 m| 0029 0.4 20 m =38 m| 0,000
10 m|_0.000 0.2 10 m| _0.000 0.1 - 10 m 40 m| 0000 |  [____
00 m| 0022 0.0 G12-03 [ 00 m| 0000 0.880 0.0 5.6 m
G10-04 =75 m | 0054 0.000 0.0 04 —10 m|__0.000 0.0 m 25 m|_ 0000
20 m|_0.380 0.0 20 m| 0,000 0.1 m 35 m| 0000 0.0
=30 m|_0.024 0.0 30 _m|_ 0000 _ 00| L _m 3.0 m| 0000
40 m|_ 0001 | — 00__ 36 m|_ 0.000 m 20 m| 0000
46 m 0.000 m 40 m 0.0 m 1.0 m 0.004
50 m ]| 0.000 m 00 m| 0029
G25-01 oM —oE 0.072 0.1
20 m|__0.003
=30 m| 0029
38 ml 0002 1 | _ ]
220 'm | 0,006
50 m | 0.000
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— D, 7o AR AERE
RE | ppm | BHE | TR | EHE | BTK | L |ER THERE
(mg/L) (mg/L) (mg/L) (mg/L) ™ (AP m)
45 m 0.000 0.0
38 m m
35 m 0.000 0.0 m
30 m 0.000 0.0 m
20 m 0.000 0.0 m
G25-03 — 0 1" 0600 0.520 ~ 50" 0.3
00 m 0.000 0.0
-1.0 m 0.002 0.0
-20 m 0.004 0.0
-3.0 m 0.003 0.0
45 m 0.000 0.0
35 m 0.000 0.0
30 m 0.000 0.0
20 m| _0000__ —00__
G26-01 1.0 m 0.000 0.240 0.0 1.5
00 m 0.002 0.0
-1.0 m 0.000 0.0
-20 m 0.001 0.0
-30 m 0.001 0.0
44 m 0.001 0.1
35 m 0.000 0.0
29 m 0.000 0.0
1.9 m 0.012 0.0
09 m 0.025 0.1
H06-03 | —0.1 _m| 0000 _| 0.040 __00_ | 0.3
-1.1 m 0.000 0.0
21 m 0.000 0.0
-3.1 m 0.000 0.0
41 m 0.000 0.0
44 m 0.000
45 m 0.0
35 m 0.000 0.0
30 m 0.0
20 m 0.0
1.0 m 0.0
HO7-01 00 m 0.000 0.0 0.2
L L
-1.0 m 0.0 m
-20 m 0.0 m
-30 m 0.0 m
40 m 0.0 m
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<7@HRE>
e oty YTy 3 R - 3 B B e Nty YTV 3R - 3 B B e Ny YTV S 53 - P N B
KE | ane) | BEE | BTK | BHE | BTK | o | L8 THEE KE | anm) | BEE | BTK | BEE | BTK | o | L8 THEE KE | anm) | BEE | BTK | BHE | BTK | o | L6 THEE
(mg/L) (mg/L) (mg/L) (mg/L) (AP m) (mg/L) (mg/L) (mg/L) (mg/L) (AP m) (mg/L) (mg/L) (mg/L) (mg/L) (AP m)
45 m 0.0 m 46 m 0.0 40 m 0.0 m
34 m 0.000 0.0 m 35 m 0.000 0.0 35 m 0.000 0.0 m
3.0 m 0.0 m 31 m 4.6 30 m 0.0 - -0.7 m
20 m| 1 |__( co_ | 1_____ m | 21 m 7.8 20 m 0.0 -20 m
1.0 m 0.0 14 m 113-01 1.1 m 0.000 2.1 6.4 1.0 m 0.0 m
H11-07 0.0 m 0.000 0.0 vz 00 m 01 m 0.1 J07-05 0.0 m 0.003 0.0 0.2 m
-1.0 m 0.0 m -09 m 0.3 -1.0 m 2.6 m
-20 m 0.0 m _;1ﬁ_m_______ __02__ -20 m 0.4 m
-3.0 m 0.0 m -29 m 0.0 _—_3.2Ln_______ ___0.2__ I m_
40 m 0.0 m 45 m 0.0 -40 m 0.0 m
45 m 0.0 m 35 m 0.000 0.0 -50 m 0.0 m
35 m 0.000 0.0 35 m 30 m 0.8 45 m 0.0 m
3.0 m 0.0 . m 20 m 0.3 35 m 0.000 0.0 m
20 m 0.0 1.1 m [13-02 1.0 m 0.000 0.3 3.7 3.0 m 0.0 . 3.0 m
H13-07 10 m 0.000 0.0 0.8 m 00 m 0.0 | 20 m| | |_ 03 | 2O | _ ___ m_
0.0 m 0.0 m -1.0 m 0.3 1.0 m 0.3 1.0 m
—om|____ | | 00__ I m | 20 m|___ — 00 | J12-03 50 0.000 0.1 2 m
-20 m 0.0 -3.0 m 0.0 -10 m 0.1 m
-30 m 0.0 45 m 0.0 -20 m 0.0 m
45 m 0.0 35 m 0.000 0.1 -30 m 0.0 m
35 m 0.000 0.0 30 m 3.3 -40 m 0.0 m
3.0 m 0.0 20 m 0.5 45 m 0.0 48 m
20 m 0.9 113-05 1.0 m 0.000 0.2 1.3 35 m 0.000 0.0 m
1.0 m 0.8 00 m 0.0 30 m 0.0 m
H13-08 ™50 m 0.000 0.4 23 S0 m 0.2 2.0 m 0.2 m
-10 m 0.0 | 20 m| | __00_ | 10 m 0.7 m
-20 m 0.1 -30 m 0.0 J12-04 00 m 0.000 0.2 1.7 m
=80 m| |1 |__( 0.0_ _ LA ___m] 45 m 0.0 |10 m| ] | _o0o0o_|  BO | _ ___ m_
-40 m 0.0 35 m 0.000 0.0 -20 m 0.0 m
44 m 0.0 3.0 m 0.0 -30 m 0.0 m
35 m 0.000 0.2 | 20 m| | __00_ | -40 m 0.0 m
29 m 0.0 113-09 10 m 0.000 0.0 0.3 m -50 m 0.0 -50 m
2.7 m 00 m 0.0 m 43 m 0.0 48 m
20 m| | |_____ -1.0 m 0.0 m 35 m 0.000 0.0 m
1.9 m 0.0 -20 m 0.0 m 28 m 0.0 m
H14-09 =59, 0.000 0.0 o 30 m 0.0 m 18 m 0.0 m
0.1 m 0.0 45 m m 0.8 m 0.1 m
1 m 00 35 m| 0000 00 m N2°08 oo | 0000 ™o — M Ol ____ m_
21 m 0.0 30 m 30 m -1.2 m 0.0 m
-3.1 m 0.0 20 m m -22 m 0.0 m
-41 m 0.0 10 m 10 m -3.2 0.0 m
35 m 0.0 00 m m 42 m 0.0 42 m
35 m 0.000 0.7 115-09 -1.0 m 0.004 00 m 43 m 0.0 m
20 m| 1  |__( 00_ o __m | -20 m m 35 m 0.000 0.0 m
0 m 0.0 m -3.0 m m 28 m 0.0 m
107-06 00 m 0.000 0.0 0.0 m -4.0 m | 20m| 1 | ____ I m_
-1.0 m 0.0 -10 m | 43 m) 1 | ___ A m_| 1.8 m 0.0 m
-20 m 0.0 m J12-09 08 m 0.001 0.0 2.1 m
-30 m 0.0 -30 m 43 m 0.000 0.0 -02 m 0.0 m
40 m 0.0 m 35 m 0.003 0.4 -1.2 m 0.0 m
47 m 0.000 0.0 m 2.8 m 0.000 0.0 -22 m 0.0 -22 m
35 m 0.000 0.1 m 1.8 m 0.015 0.8 -32 m 0.0 m
32 m 0.000 0.0 m 124-03 08 m 0.230 0.490 0.3 0.2 -42 m 0.0 -42 m
22 m 0.000 0.1 - 6 m -0.2 m 0.130 0.0 45 m m
1.2 m 0.000 0.0 2 m -1.2 m 0.006 0.0 35 m 0.000 0.0 35 m
1202 | =5 ~hoe- ] %02 |TToo— | 42 n 557 ] ~0000 ] ~ 007" | 30 m m
-08 m 0.000 0.0 m -3.3 m 0.004 20 m m
-1.8 m 0.000 0.0 m 45 m 0.0 1.0 m 1.0 m
-28 m 0.000 0.0 m 35 m 0.000 0.1 0.0 m m
=38 m| 0.000 0.0 m 30 m 0.0 J16-08 =5, 0.000 00 m
44 m 0.0 m 20 m 0.0 -20 m -20 m
35 m|__0.000 0.0 m 12504 =G~ T ] 0000 1==5—7 00 m =30 m m
29 m 0.0 m 00 m 0.0 m =40 m m
1.9 m 0.0 m -1.0 m 0.0 m _—_41£1 __________________ m_
112-06 09 m 0.000 0.3 17 m —2.0 m 0.0 m 50 m —50 m
0.1 m 0.3 m
Zml ] 00_ _ I P m
-21 m 0.0 m
-3.1 m 0.0 - -3.1 m
-41 m 0.000 0.0 -51 m
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= oty YTy 3R - 3 B B . Nty YTV 3 R - 3 B B e Nty YTV S 53 - P e B
RE | ooy | BHE | BTK | BHE | BFK | oy | L8 FRRE RE | ooy | BHE | BTK | BHE | BEK | oy | L8 FRAR RE | ooy | BHE | BTK | BHE | BEK | oy | L6 MRRE
(mg/L) (mg/L) (mg/L) (mg/L) (AP m) (mg/L) (mg/L) (mg/L) (mg/L) (AP m) (mg/L) (mg/L) (mg/L) (mg/L) (AP m)
46 m 45 m 0.0 m 45 m 0.0 m
35 m| 0000 0.0 35 m| 0000 00 m 35 m| 0000 0.0
31 m 3.0 m 0.0 30 m 3.0 m 0.0 m
21 m 20 m 0.0 m 20 m 0.0 m
11 m 10 m 00 10 m 10 m 0.0 10 m
01 m 00 m 00 m K10-02 | 00 m 0.000 0.0 0.1 m
17709 =59, 0.000 00 ~10 m 0.0 m 10 m 0.0 10 m
19 m =20 m 0.000 0.0 05 m 20 m 0.0 m
29 m K06-08 =35, 0.0 m 30 m 0.1 m
-39 m =40 m 0.0 m _—_4.2Ln_______ ___0.0___ I m_
;4._8_m_ __________ =50 m 0.0 m -50 m 0.0 m
-6.0 m 0.0 m 45 m 0.000 0.0 m
46 m -7.0 m 0.0 m 35 m 0.000 0.0 m
30 m| _0.000 0.0 —80 m 0.0 m 30 m| _0.000 0.0 m
31 m | 86 m| ___ 1 | ____] I MR REN— m_| | 20 m| 0000 _ | |00 _ | —_— m_
21 m 10 m| 0000 0.0
20 m|____ | _____ 50 m| 0000 K109 =0 m 0000 L 0.0 oL
J18-03 | 11 m 0.001 0.0 35 m|_ 0.000 1.0 m| 0000 0.0
01 m 35 m| _ 0.000 20 m| 0000 0.0
—0.9 m 25 m| _ 0.000 —30 m| 0000 0.0
19 m 15 m| 0000 —40 m| 0000 00
29 m 05 m| 0000 45 m 0.0
3.9 m ~05 m| 0002 0.370 0.4 35 m| 0000 00
45 m 0.0 15 m| 0000 30 m 0.0
35 m| 0000 0.0 25 m| 0083 (20 m[ | [ 00 _ |
30 m 0.0 —35 m| 0008 10 m 0.0
20 m 4.6 —45 m| 0000 K12-02 40 m 0.000 0.0 s
10 m 0.0 ~40 m 10 m 00
K05-07 == = — — 0000 |—=s5—— 07 K0g-01 fmz === |—m———— —0 0
10 m 00 45 m 00 —30 m 0.0
20 m 0.0 35 m 0.0 ~40 m 0.0
—30 m 0.0 30 m 0.0 50 m
~40 m 0.0 20 m 00 35 m| 0001 00
42 m 10 m 00 K12-09 [ 30 m 0.000 0.0
29 m| 0000 0.0 00 m 0.370 0.0 0.4 20 ___ | ____
27 m 0 m 00 240 m
17 m 20 m 0.0 45 m|_ 0,000 0.0
0.7 m —30 m 0.1 35 m| _ 0.000 0.0
03 m [—40 m| | — 00 _ | 30 m| 0001 00
13 m 0.098 0.1 5.0 m 0.0 20 m| 0003 0.0
23 m 35 m|_ 0.000 0.0 10 m| 0250 0.0
=33 m K08-06 [ 20 m| __ | oot0 | _ | 00 K24-06 50— [ 3.900 L 0.0 o
~43 m —60 m | 210 m| 0004 _ | | _00 _
53 m 45 m|_ 0.000 20 m| 0004 0.0
=59 m|_o000_ |  |_____ 35 m| 0000 27 m| 0000
30 m| 0000 30 m 0.0
K06-02 \— 5T 0000 0.0 20 m[ _o0000_ |  [____ | 45 m| 0000
29 m 10 m| 0000 35 0.000 0.0
24 m| 0000 0.0 00 m| 0002 0.860 0.2 30 m| 0000
14 m| 0018 0.0 10 m| 0000 20 m| 0000
04 m| 0024 0.0 —20 m| 0.000 K240-8 =55 T o000 ] 012 [~~~ 00 TTTTTTT T
—0.6 m| 0.000 0.1 —30 m| 0000 00 m| 0000
1.6 m| 0042 0.098 0.0 0.1 —40 m| 0000 10 m| 0000
26 m| 0000 0.0 K08-09 | —3:0_m | 0.000 =20 m| 0000
—36 m| 0000 0.0 45 m 0.0 45 m|_ 0000
—46 m| 0000 0.0 35 m 0.0 35 m| _ 0.000 0.0
—56 m|_0.000 0.0 30 m 0.0 30 m| 0001
5.9 _m|_0.000_ | — 00_ _ (20 m[ ___ | — 00 _ | 20 m| 0001
10 m 0.0 m 170 m| 0007
44 m 0.0 00 m 0.860 0.0 0.2 m K25-05 50 "m[ 0002 LBy 00
34 m| 0007 0.2 1.0 m 0.0 m 10 m|_ 0.120
29 m 0.0 20 m 0.0 m 20 m| 0000
19 m 0.0 ~30 m 00 m =46 m| 0008 _| [ ___ | I
09 m 0.0 -40 m 0.0 m -56 m 0.006 m
01 m 0.0 50 m 00 50 m
K06-05 | =11 m 0.009 0.0 0.7
21 m 0.0
31 m 0.0
—41 m 0.0
51 m 0.0
S8ml____ | l_____
| |
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RE | any | BHE | BTK | BHE | BTK | o p | L8 FHER KE | an) | BEE | BTK | BEE | BTK | o | L8 THEE RE | anm) | BEE | BTK | BEE | BTK | o | L8 THEE
(mg/L) (mg/L) (mg/L) (mg/L) (AP m) (mg/L) (mg/L) (mg/L) (mg/L) (AP m) (mg/L) (mg/L) (mg/L) (mg/L) (AP m)
40 m 0.000 44 m 45 m 0.000 49 m 45 m 0.0 m
3.5 m 0.000 0.0 30 m 0.000 m 35 m 0.000 0.0 m
25 m 0.000 30 m 0.000 m 30 m 0.0 30 m
15 m| 0003 20 m|_ 0000 m (20 m| | — o0 _ |  BOl____ m_
05 m 0.011 1.0 m 0.006 m 1.0 m 0.0 1.0 m
K25-06 05 m 0.033 i 00 00 m 0.000 0820 m L11-04 00 m 0.001 0.0 el m
-1.5 m 0.000 -1.0 m 0.006 : m -1.0 m 0.0 m
-25 m 0.071 _;1_5_m ____________ m -20 m 0.0 m
35m|_o0009 |  |____1 [ __ 1 ____m] =20 m | —0.000 =30 m 0.0 m
45 m 0.001 -30 m 0.000 40 m 0.0 m
45 m 0.0 L06-03 40 m 0.000 49 m m
34 m 0.000 0.0 =50 m 0.000 35 m 0.000 0.0 m
30 m 0.0 40 m 0.0 34 m m
20 m 0.0 30 m 0.0 24 m m
L05—01 :)8 m 0002 05 65 25 m 00 __22;]’1 ————————————— m
—= T ——_— == - 1.5 m 00 L12-09 |2 0.000 0.0
-1.0 m 0.0 05 m 0.0 0.4 04 m ' '
20 m 0.0 05 m 0.3 ' 0.6 m
=30 m 0.0 =15 m| | — 00 | =16 m
40 m 0.0 -25 m 0.0 -26 m
45 m 0.0 -35 m 0.0 -3.6 m
35 m 0.006 0.0 45 m 0.0 46 m
30 m 0.0 44 m 0.000 45 m 0.0
20 m 0.1 35 m 0.000 35 m 0.000 0.0
Los-04 | —0m[_ ] 0000 =00 1 o5 2.9 m| 0000 30 m 0.0
00 m 0.0 19 m 0.000 L25-01 20 m 0.001 0.1 0.2
-1.0 m 0.0 0.9 m 0.000 1.0 m ' 0.2 ’
=20 m 0.0 =0.1_m|_0.000 500 (o0 m[ | [ 00 _ |
-30 m 0.0 1.1 m 0.000 : -1.0 m 0.0
40 m 0.0 21 m 0.000 -20 m 0.0
43 m 0.000 -3.1 m 0.021 48 m 0.0
36 m| 0000 (=41 m[ o001 _ |  [____ | 36 m| 0000 0.1
28 m 0.033 4.6 m 0.000 m 33 m 0.0
18 m| 0003 |  [_____ L07-06 |=21_m| 0000 m 23 m 0.0
0.8 m | — 0,000 T . 45 m 0.0 m [2om| | [____]
-0.2 m 0.000 ’ ’ 35 m 0.0 m M04-04 1.3 m 0.000 0.0 0.0
-1.2 m 0.000 30 m 0.0 m 03 m 0.0
-22 m 0.000 20 m 0.0 m -0.7 m 0.0
-3.2 m 0.000 1.0 m 0.0 m -1.7 m 0.0
-3.5 m 0.000 00 m 0.0 m 27 m 0.0
L0507 46 m 00 =10 m 0.0 & m =37 m 0.0
3.6 m 0.0 20 m 0.0 m 45 m 0.000 0.0
31 m 0.0 -3.0 m 0.0 m 35 m 0.027 0.7
21 m 0.0 40 m 0.0 m 30 m 0.000 0.0
1.8 m 41 m 1 m 20 m 0.000 0.0
RN 1000 \——5—) 02 m R ~ 05 m voror [0 MI 70007 o0y [CO0TT
01 m 0.0 m 45 m 0.0 m 00 m 0.002 ' 0.0 ’
0.9 m 0.0 m 35 m 0.000 0.0 m -1.0 m 0.000 0.0
-1.9 m 0.0 m 3.0 m 0.0 m -20 m 0.000 0.0
29 m 0.0 m 20 m| | — 00 _ | 4 m =30 _m| 0.000 0.0
44 m 0.0 m 10 m 0.0 0O m =40 m 0.000 0.0
35 m 0.001 0.1 m L09-03 00 m 0.000 0.0 0.2 m 44 m 0.000
29 m 0.0 m -1.0 m 0.0 m 34 m 0.004
19 m 0.1 m 20 m 0.0 m 29 m 0.004
L05-09 |—g g 0006 [—pp——| 02 - T 00 - 19 0] 000 ] om
0.1 m 0.0 m 40 m 0.0 m 09 m 0.000 :
-11 m 0.0 m =50 m 0.0 m 01 m 0.000
-21 m 0.0 m 45 m 0.0 m -11 m 0.000
48 m 0.0 m 35 m 0.000 0.0 m 41 m
3.8 m 0.000 0.0 m 3.0 m 0.0 30 m M04-08 44 m 0.0
33 m 0.0 m __2£_m_______ __02__ m 34 m 0.3
23 m 0.3 23 m 1.0 m 0.0 1.0 m 29 m 0.1
1.3 m 0.1 m L09-04 00 m 0.000 0.0 0.1 m 19 m 0.0
L0601 o8 m[_ 0000 55— 03 03 m | .0 m 00 m (e m| T 0034 [T00_ ] o2
-0.7 m 0.0 m -20 m 0.0 m -0.1 m 0.0
-1.7 m 0.0 m -3.0 m 0.0 m -1.1 m 0.0
=27 m 0.0 m 40 m 0.0 m -21 m 0.0
-3.7 m 0.0 m -50 m 0.0 m -31 m 0.0
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= Nty Ty . oty STy . oty STy FHER T E e
RE | any | BHE | BTK | BHE | BTK | oy | L8 FHER KB | a5 [ EEE | #TAK | EEE | ®TK L FRRE KB | a5 [ EEE | #TAK | EEE | ®TK L TRRE
(mg/L) (mg/L) (mg/L) (mg/L) ) (mg/L) (mg/L) (mg/L) (mg/L) (mg/L) (mg/L) (mg/L) (mg/L) (AP m)
25 m| 0000 m 56 m 0.0 27 m| 0000 0.0
35 m| 0.001 0.0 m 41 m 0.2 31 m
30 m|_ 0001 30 m 35 m| 0000 58 M23-02 =32 m| | 0002 00 T
20 m| 0000 20 m 31 m 0.0
10 m| 0000 0.025 0.0 m 21 m 0.0 27 m| 0000 0.0
MOS-01 55 "m | 0.000 m MO6-03 50 ml | 0000 vz M23-03 [ 20 m| _ | 0000 [__ | 00 O | ____ _m
=10 m| 0000 m 11 m 0.0 15 m
20 m| 0000 m 01 m 00 30 m| 0000 0.0
;2._1_m_ I R A R N S m | -09 m 0.0 M24-05 __22Ln _______ 6ooo | __ _ _ | 60 (O  m
19 m 0.0 13 m
76 m| 0000 35 m| 0000 0.0 42 m 0.0
35 m| 0000 32 m| 0000 35 m| 0000 04
31 m| 0000 22 m| 0003 27 m 0.0
21 m| 0004 12 m| 0003 17 m 0.0
11 m]| 0089 0.119 02 m| 0000 07 m 00
01 m|_ o000 |  |_____ 08 m|__0000 NO3-03 o W ~ 7] 0000 r—%F—7 08
—0.9 m| _ 0000 18 m| 0000 A 13 m 0.0
19 m| 0000 28 m| 0000 : 23 m 0.0
M05-03 [ =30 m | 0.000 —38 m| 0000 —33 m 0.0
45 m 0.0 ~48 m| 0000 43 m 0.0
35 m 0.0 58 m| 0000 44 m 0.0
30 m 0.0 ~6.8 m| 0000 34 m| 0000 00
20 m 0.0 04 MO06-08 _;7£_m ____________ 29 m 0.0
10 m 0.0 : 19 m 0.0
olml____ 1  _____ 35 m 0.0 09 m 0.0
0.0 m 0.0 30 m 0.0 01 m 0.0
10 m 0.0 20 m 0.0 11 m 0.0
26 m 0.0 10 m 04 N04-04 [ =21 m 0.000 00 0.1
37 m| 0002 0.2 00 m 00 31 m 0.0
31 m 0.2 10 m 0.0 04 41 m 00
21 m 0.2 20 m 0.0 51 m 00
MO5-04 [ T4 m|_ _ | 0000 [__00__| o3 30 m 0.0 61 m 0.0
01 m 0.0 38 m 71 m 0.0
-09 m 0.0 _;7£_m _____________ —_7211 _____________
19 m 0.0 79 m
29 m 0.0 76 m 0.0 46 m 0.0
23 m 0.0 35 m| 0000 02 35 m| 0000 0.0
35 m| 0000 06 31 m 0.0 31 m 0.2
28 m 0.0 21 m 0.0 21 m 0.1
o] 1 el — = | = oml 1 [ N05-02 (—5=—T0 0.000 - 17
M05-08 | 18 m 0.000 0.0 0.7 M08-01 [ 11 m 0.000 00 0.2 01 m 0.1
08 m 0.0 01 m 0.0 (09 m[ | [ 00 _ |
02 m 0.0 09 m 0.0 39 m 0.0
12 m 0.0 19 m 0.0 39 m 06
22 m 0.0 29 m 0.0 35 m| 0000 06
35 m| 0031 39 m 00 24 m 00
29 m| 0000 76 m 20om| | [____]
19 m| 0000 35 m| 0.000 0.0 14 m 0.0
09 m| 0000 31 m NO5-03 [ 04 m 0.000 0.0 0.4
~01 m| 0000 21 m ~0.6 m 0.0
11 m| 0003 0.470 [20m|___ | [_____ 16 m 0.0
21 m|_ 0000 11 m 26 m 0.0
—31 m|_ 0000 MOS-07 5, 0.000 00 ~36 m 0.0
—41 m| 0000 ~0.9 m ~46 m 0.0
=44 ml_ 1 ____ 19 m 35 m| 0000 0.0
~51 m 29 m 30 m 0.0
MO6-01 3% 0.0 39 m 20 m 0.0
30 m 0.0 49 m 10 m 0.0
20 m 0.0 45 m 00 m 01
10 m 0.0 35 m| 0000 0.0 N06-06 0~ m 0.000 00 e
00 m 0.0 30 m 20 m 00
-1.0 m 0.0 04 __2£_m ____________ -30 m 0.2 m
20 m 0.0 M18-04 [ 10 m 0.000 0.0 (=40 m| __ | [ 00 _ 40 m_
-3.0 m 0.0 00 m
-40 m 0.0 -10 m
;4._4_m_ __________ -20 m
-51 m -3.0 m
35 m| 0000 0.0
M22-09 [ 20 m| | 0000 [__ | 0.0
05 m
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33 m]| 0.000 0.0 38 m
28 m 0.0 m
_2._0_m ___________ m
18 m 0.0
0.8 m 0.0
N09-06 — =~ 0.000 00 0.2
-12 m 0.0
22 m 0.0
-3.2 m 0.0
42 m 0.0
3.8 m| 0.000
35 m| 0.000 0.0
2.3 m| 0.000
1.3 m| 0.000
N12-01 [ 03 m| 0.000 0.340 0.0
-07 m| 8.400
-17 m| 0.051
27 m| 0004 | _____
-37 m| _ 0.000
35 m| 0.000 0.0
29 m
1.9 m
N23-07 [ 09 m 0.000 0.0
0.1 m
Ztml
2.7 m| 0.000 0.0
015-02 | =22 | 0000 |==—=—m—=— 0.0
1.0 m
20 m
34 m| 0.000 0.0
015-05 | =20 ] 0000 |==——m—— 0.0
09 m
21 m
34 m| 0.000 0.0
2.9 m| 0.000
20ml 1
1.9 m| _ 0.000
021-08 |—p=o—t—es 0.200 0.0
-01 m| 0.016
-1.1 _m| 0.000
—21 m| 0018
35 m| 0.000 0.4
30 m 0.0
20 ml ] 00_ _
022-03 | 710 m 0.000 0.0 0.0
01 m 0.0
11 m 0.0
21 m 0.0
35 m| 0.001 8.0
33 m 0.0
23 m 0.0
023-07 [_20 m| | 0000 |_ 0.0
13 m 0.0
03 m 0.0
0.7 m 0.0
20 m| 0.001 0.0
024-07 [ =16 m|__ | 0000 [___ 0.0
-30 m
35 m|  0.000 0.0
20 ml
P24-06 | 1.9 m 0.000 0.0
0.1 m
21 m _ 1
¥70.000"HKV0.071E. EE FRIERFETHHLEETT o
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